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Question Id : 5362282157 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different

streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled in
the college. Based on the data in the table, answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362282158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362288401. 1
5362288402. 2



5362288403. 3
5362288404. 4

Question Number : 2 Question Id : 5362282159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 2y 233
(3) 114 :121 (4)y 53:65
Options :

5362288405. 1
5362288406. 2
5362288407. 3
5362288408. 4

Question Number : 3 Question Id : 5362282160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
Options :

5362288409. 1
5362288410. 2
5362288411.3
5362288412. 4

Question Number : 4 Question Id : 5362282161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled 1n Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :

5362288413. 1
5362288414.2
5362288415.3
5362288416. 4

Question Number : 5 Question Id : 5362282162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled in Arts, Science and Commerce streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362288417. 1
5362288418. 2
5362288419. 3
5362288420. 4

Question Id : 5362282157 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362282158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362288401. 1
5362288402. 2
5362288403. 3
5362288404. 4

Question Number : 2 Question Id : 5362282159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362288405. 1
5362288406. 2
5362288407. 3
5362288408. 4

Question Number : 3 Question Id : 5362282160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fer U AT Tl 4 U =y aias B arel SRl Bl e S el 2 7

(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362288409. 1
5362288410. 2
5362288411. 3
5362288412. 4

Question Number : 4 Question Id : 5362282161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362288413. 1
5362288414.2
5362288415. 3
5362288416. 4

Question Number : 5 Question Id : 5362282162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362288417. 1
5362288418. 2
5362288419. 3
5362288420. 4

Sub-Section Number : 2
Sub-Section Id : 53622886
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362282163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options :

5362288421. 1
5362288422.2
5362288423. 3



5362288424. 4

Question Number : 6 Question Id : 5362282163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288421. 1
5362288422.2
5362288423. 3
5362288424. 4

Question Number : 7 Question Id : 5362282164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with students who 1n terms of performance
readiness level are in the category of ‘able but unwilling’, will be,

(1) Assigning challenging tasks and delegation of roles
(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft
Options :
5362288425. 1
5362288426. 2

5362288427. 3
5362288428. 4

Question Number : 7 Question Id : 5362282164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362288425. 1
5362288426. 2
5362288427. 3
5362288428. 4

Question Number : 8 Question Id : 5362282165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural competencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (0C), (D)and (E) only
Options :

5362288429. 1



5362288430. 2
5362288431.3
5362288432. 4

Question Number : 8 Question Id : 5362282165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288429. 1
5362288430. 2
5362288431.3
5362288432. 4

Question Number : 9 Question Id : 5362282166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362288433. 1
5362288434.2
5362288435.3
5362288436. 4

Question Number : 9 Question Id : 5362282166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362288433. 1
5362288434.2

5362288435. 3
5362288436. 4

Question Number : 10 Question Id : 5362282167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362288437. 1
5362288438. 2

5362288439. 3
5362288440. 4

Question Number : 10 Question Id : 5362282167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288437. 1
5362288438. 2
5362288439. 3
5362288440. 4

Question Number : 11 Question Id : 5362282168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362288441. 1
5362288442.2



5362288443. 3
5362288444. 4

Question Number : 11 Question Id : 5362282168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288441. 1
5362288442.2
5362288443. 3
5362288444. 4

Question Number : 12 Question Id : 5362282169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs internal and external criticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362288445. 1
5362288446. 2
5362288447. 3
5362288448. 4

Question Number : 12 Question Id : 5362282169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288445. 1
5362288446. 2
5362288447. 3
5362288448. 4

Question Number : 13 Question Id : 5362282170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362288449. 1
5362288450. 2
5362288451. 3



5362288452. 4

Question Number : 13 Question Id : 5362282170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288449. 1
5362288450. 2
5362288451.3
5362288452. 4

Question Number : 14 Question Id : 5362282171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362288453. 1
5362288454. 2
5362288455. 3
5362288456. 4

Question Number : 14 Question Id : 5362282171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



4= 2 FyA ffr T E
FaA (1) :  AHG | THT 1 AU B A Y o0 T o @ wetan guiedr g |

Fu (II) : fdeel v Su-ug=aa 7 T8 su Fefa =0 & o v gftarfua gom @ fomn s 2

IYFA FYAT F AT H ARG el § | waies I0Ed I3 T

(1) Fy= [ 31 IL 2 o0 2 |
(2 w1 3R A 58 9850 2 |
(3) w9 2 g woF 1194 741 2 |

@)  FE ITE TR R g e T R

Options :

5362288453. 1
5362288454. 2
5362288455. 3
5362288456. 4

Question Number : 15 Question Id : 5362282172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for credibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1= false but (R) 1s true
Options :
5362288457. 1
5362288458. 2

5362288459. 3
5362288460. 4

Question Number : 15 Question Id : 5362282172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288457, 1

5362288458, 2

5362288459. 3
5362288460. 4

Question Number : 16 Question Id : 5362282173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362288461. 1
5362288462. 2



5362288463. 3
5362288464. 4

Question Number : 16 Question Id : 5362282173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288461. 1
5362288462. 2
5362288463. 3
5362288464. 4

Question Number : 17 Question Id : 5362282174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumecation skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2  (C). (D). (E) only
(3)  (B).(C). (D) only (4) (B). (D). (E) only
Options :

5362288465. 1
5362288466. 2
5362288467. 3
5362288468. 4

Question Number : 17 Question Id : 5362282174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288465. 1
5362288466. 2
5362288467. 3
5362288468. 4

Question Number : 18 Question Id : 5362282175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362288469. 1
5362288470. 2
5362288471. 3
5362288472. 4

Question Number : 18 Question Id : 5362282175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288469. 1
5362288470. 2
5362288471. 3
5362288472. 4

Question Number : 19 Question Id : 5362282176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

(1) (O (B). (A). (D). (E) (2) (D), (E). (C), (B), (A)
(3) (A). (B). (C), (E). (D) (4) (B). (C), (D). (E). (A)
Options :

5362288473. 1
5362288474.2
5362288475. 3
5362288476. 4

Question Number : 19 Question Id : 5362282176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288473. 1
5362288474.2
5362288475. 3
5362288476. 4

Question Number : 20 Question Id : 5362282177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I)  Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (ITITI) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

1 (A-D. (B)-ID), (C)-(IV), (D)-(II)
(2)  (A)-@V), (B)-III). (C)-(D), (D)-(IL)
(3)  (A-ID. (B)-(IV). (O)-ID). (D)-(I)

4  (A)-OV). (B)-(I). (C)-(I1II), (D)-(II)
Options :
5362288477. 1
5362288478. 2
5362288479. 3
5362288480. 4

Question Number : 20 Question Id : 5362282177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(C) g (II) T =992
D) = AV) eI oA

1  @-D. (B)-II). (C)-(IV), (D)-(II)
(2)  (A)-IV). (B)-(II). (C)-(I), (D)-(II)
(3)  (A-ID. (B)-(IV). (C)-(ID), (D)-(I)

4)  (A)-IV). (B)-), (C)-(IIT), (D)-(II)
Options :
5362288477. 1
5362288478. 2
5362288479. 3
5362288480. 4

Question Number : 21 Question Id : 5362282178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) I%hour
1
(3) 2 hour (4) 2§ hour
Options :

5362288481. 1
5362288482.2
5362288483. 3
5362288484. 4

Question Number : 21 Question Id : 5362282178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 192-31 (2) 15 e I
3 2H@-wm @ 2% SeaS

Options :

5362288481. 1
5362288482.2
5362288483. 3
5362288484. 4

Question Number : 22 Question Id : 5362282179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362288485. 1
5362288486. 2
5362288487. 3
5362288488. 4

Question Number : 22 Question Id : 5362282179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 Terntet anel v wen | 27 Fendl B @ied 2, 21 Bl oush aew # e 17 fHendt aven sed

21 7 Tl === U 310 a1 9ed 7, 6 Tl #am 5= A =men 9red 7 oawn 5 faEmefl wee
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(1) 5 (2) 4
3 3 4 2
Options :

5362288485. 1
5362288486. 2
5362288487. 3
5362288488. 4

Question Number : 23 Question Id : 5362282180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362288489. 1
5362288490. 2
5362288491. 3
5362288492. 4

Question Number : 23 Question Id : 5362282180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IW FiHF gur foram Freett w0 3 2160 7 | 39H & T 91 JEr B -Hf 26t

(1) 327 (2) 429
(3) 237 (4) 641
Options :

5362288489. 1
5362288490. 2
5362288491. 3
5362288492. 4

Question Number : 24 Question Id : 5362282181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that i1s formed by
reversing its digits 15 27 more than the original number. What 1s the number?

(n 27 (2) 36
(3) 42 (4) b4
Options :

5362288493. 1
5362288494. 2
5362288495. 3
5362288496. 4

Question Number : 24 Question Id : 5362282181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH T AT H 470 2 | THE AHN 1 FH seed I 591 T g T °
27 AT9= & | §o1 HEA =4 |

(1) A (2) 36
(3) 42 (4) 54
Options :

5362288493. 1
5362288494. 2
5362288495. 3
5362288496. 4

Question Number : 25 Question Id : 5362282182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83, while sum of their products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362288497. 1
5362288498. 2
5362288499. 3
5362288500. 4

Question Number : 25 Question Id : 5362282182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362288497. 1
5362288498. 2
5362288499. 3
5362288500. 4

Question Number : 26 Question Id : 5362282183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

5362288501. 1
5362288502. 2
5362288503. 3



5362288504. 4

Question Number : 26 Question Id : 5362282183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[ [l - 2 . R r - .-u . % -
Mg 9 o hiA—H THIY S99 299 | S=iH 150 IS a7

(A) Izt

(B) =AA

(C) 3THH

D) 5

(E) w39t

Fr= f22 = fameat 0 1w I =g

(1) === (A) 317 (B) (2) =Fa= (B) 311 (C)

(3) === (C) # (D) (4) == (A) F (D)
Options :

5362288501. 1
5362288502. 2
5362288503. 3
5362288504. 4

Question Number : 27 Question Id : 5362282184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1 A-D. (B)-ID. (O)-(IV). (D)-(ID)
@  (A-ah. B)-av). (O)-aI). (D)-D
(3 (A)-0V), (B)-IID), (C)-1D). (D)-(D)
@ (A)-AV), B)-1). (C)-11). (D)-(I1D)

Options :

5362288505. 1

5362288506. 2

5362288507. 3
5362288508. 4

Question Number : 27 Question Id : 5362282184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=i-1 =1 g=i-11 5 gEfem it

-1 11

(e /fagr) (Trer=r )
(A) IR @ =
B) A (ID) ==
(C) === (I1I) =
(D) =T av) =g

(1) (A)-(D). (B)-(III). (C)-(IV), (D)-(II)
(2) (A)-(IL). (B)-(IV). (C)-(III). (D)-(I)
(3) (A)-(IV), (B)-(ITI), (C)-(II), (D)-(I)
(4) (A)-(IV), (B)-(I). (C)~(II), (D)-(I1I)

Options :

5362288505. 1

5362288506. 2

5362288507. 3
5362288508. 4

Question Number : 28 Question Id : 5362282185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahidity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362288509. 1
5362288510. 2



5362288511. 3
5362288512. 4

Question Number : 28 Question Id : 5362282185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) T =i (2) =TI A
(3) —=EEE * U (4) =IEETEE H AT
Options :

5362288509. 1
5362288510. 2
5362288511. 3
5362288512. 4

Question Number : 29 Question Id : 5362282186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(III). (C)-(IV), (D)-IT)
) (A)-IID. (B)-ID). (C)-(D). (D)-(IV)
(3)  (A-IV). B)-(D). (C)-(1D). (D)-(11I)
4 (A)-dD. (B)-IV), (C)-IIL), (D)-(I)

Options :

5362288513. 1
5362288514. 2
5362288515. 3
5362288516. 4

Question Number : 29 Question Id : 5362282186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(IL)
(2)  (A)-IID), (B)-IIL). (C)-(I), (D)-(IV)
(3)  (A)-IV), (B)-T). (C)-(II). (D)-(III)
(4) (A)-(ID)., (B)-(IV). (C)-(IID), (D)-(@)

Options :

5362288513. 1
5362288514. 2
5362288515. 3
5362288516. 4

Question Number : 30 Question Id : 5362282187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if it 1s true

(4) A proposition 1s neither true nor false

Options :
5362288517. 1



5362288518. 2
5362288519. 3
5362288520. 4

Question Number : 30 Question Id : 5362282187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsid 757 =+ 7w =+ e

(1)  wiosiie U =19 A SN T w7 0l
(2) TGSt =7 91 HE E AYE T 7

(3)  wiasl ®al 7 92 7% ®&l 2 |

(4)  wiamfa 9 a1 92 2 3 F Ted |
Options :

5362288517. 1

5362288518. 2

5362288519. 3
5362288520. 4

Question Number : 31 Question Id : 5362282188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362288521. 1
5362288522.2
5362288523. 3
5362288524. 4



Question Number : 31 Question Id : 5362282188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HF ACAFATAT T TH WY CHH T HIE FESG S-He 9H0F B A

(1)  ==iFH (2) |
(3) == (4) =%
Options :

5362288521. 1
5362288522.2
5362288523. 3
5362288524. 4

Question Number : 32 Question Id : 5362282189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used to perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1= correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362288525. 1



5362288526. 2
5362288527.3
5362288528. 4

Question Number : 32 Question Id : 5362282189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288525. 1
5362288526. 2
5362288527. 3
5362288528. 4

Question Number : 33 Question Id : 5362282190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network., there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362288529. 1
5362288530. 2
5362288531.3
5362288532. 4

Question Number : 33 Question Id : 5362282190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288529. 1
5362288530. 2
5362288531. 3
5362288532. 4

Question Number : 34 Question Id : 5362282191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362288533. 1

5362288534.2

5362288535.3
5362288536. 4

Question Number : 34 Question Id : 5362282191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362288533. 1
5362288534.2
5362288535. 3
5362288536. 4

Question Number : 35 Question Id : 5362282192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362288537. 1
5362288538. 2
5362288539. 3
5362288540. 4

Question Number : 35 Question Id : 5362282192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362288537. 1
5362288538. 2
5362288539. 3
5362288540. 4

Question Number : 36 Question Id : 5362282193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362288541. 1
5362288542.2
5362288543. 3
5362288544. 4

Question Number : 36 Question Id : 5362282193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288541. 1
5362288542.2
5362288543. 3
5362288544. 4



Question Number : 37 Question Id : 5362282194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

5362288545. 1
5362288546. 2
5362288547.3
5362288548. 4

Question Number : 37 Question Id : 5362282194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288545. 1

5362288546. 2

5362288547.3
5362288548. 4

Question Number : 38 Question Id : 5362282195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362288549. 1



5362288550. 2
5362288551. 3
5362288552. 4

Question Number : 38 Question Id : 5362282195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH HH1 3918 B HeeTigd § H TRE TR % guih (T2T) W |9 9 wartas 5= R s 2 v

(1)  wdiecds T (2) YR T
(3) AT U (4) Sfm T
Options :

5362288549. 1
5362288550. 2
5362288551.3
5362288552. 4

Question Number : 39 Question Id : 5362282196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement I : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362288553. 1
5362288554. 2
5362288555. 3
5362288556. 4

Question Number : 39 Question Id : 5362282196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362288553. 1
5362288554. 2
5362288555. 3
5362288556. 4

Question Number : 40 Question Id : 5362282197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only
Options :

5362288557. 1

5362288558. 2

5362288559. 3
5362288560. 4

Question Number : 40 Question Id : 5362282197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362288557. 1



5362288558. 2
5362288559. 3
5362288560. 4

Question Number : 41 Question Id : 5362282198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C) Valabhi
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B, (C), (D) only

(3) (C). (D). (E) only (4) (D), (E). (A) only
Options :

5362288561. 1
5362288562. 2
5362288563. 3
5362288564. 4

Question Number : 41 Question Id : 5362282198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(A) e

(B) AE

(C)  doordl

D) =g

(E) =il

e fo1 T et | @ R e g

1)  Fa A, B). (© @ F (B). (0). D)
(3) === (C). (D). (E) (4) == (D). (E). (A)

Options :

5362288561. 1
5362288562. 2
5362288563. 3
5362288564. 4

Question Number : 42 Question Id : 5362282199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D). (E) (2) (A, (B). D). (C). (E)
(3) (A, (C). (B). (D). (E) (4)  A). B). (E). (C). (D)
Options :

5362288565. 1
5362288566. 2
5362288567. 3
5362288568. 4

Question Number : 42 Question Id : 5362282199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T TSR] ST H SO AT = S S

Q)  TeEmefai # ow e faam S 2

B)  TaEneft SwfEE T g 3
(C)  Taensft wes fahea % a1 9 3191 WEA T wd # |
(D) Tt weaw e = afomat W fa=m w3 2

(E)  Teremedt s19+t mufaerare == #7d & 31 U oo 9d 7

Fr fau T et 8 @ w8 3w g
(1) (A). (B). (C). (D). (E) (2) (A, (B). (D). (C), (E)
(3) (A). (O), (B), (D). (E) 4) (A). (B). (E). (C). (D)

Options :

5362288565. 1
5362288566. 2
5362288567. 3
5362288568. 4

Question Number : 43 Question Id : 5362282200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. in India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362288569. 1
5362288570. 2



5362288571. 3
5362288572. 4

Question Number : 43 Question Id : 5362282200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foea = @era 4 =1 71 9 fopu T sifige v odew F AR, 9 9 99 2018-19 7F I=2 e ° wwa
T ST (S 3 9W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362288569. 1
5362288570. 2
5362288571. 3
5362288572. 4

Question Number : 44 Question Id : 5362282201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362288573. 1
5362288574.2
5362288575. 3
5362288576. 4



Question Number : 44 Question Id : 5362282201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 =i 9 ‘e-STARTS' Ftainad § | o fom 27
(1) o st dtafef 4 sgEam = o fagm wsma
(2  fawm ¥ ufiemr 3t sgEE % foo e |
(3)  THTH AT W WiaE U Iy wiEe e qmea

Options :

5362288573. 1

5362288574 2

5362288575.3
5362288576. 4

Question Number : 45 Question Id : 5362282202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the flield of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1)  (A). B). (C) and (D) only (2) (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362288577. 1
5362288578. 2
5362288579. 3
5362288580. 4

Question Number : 45 Question Id : 5362282202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

v=da e % &@ H WiHa FvataEres (Srs 7 o JFatad) w1 3= o Al = wEd ael R e
(A)  HE H FE A FE gE A WA A =i

(B)  F9F 4% (NAAC) #1 &1 3 ff v %8 & %9 3.26 =

(C)  =EmAl i favatere= +i 99 4 9 v A 91 UF % 309 100 T 9 351 919 26 =180 |
(D) =& 9 T -Taendi FATE FH o =9 1:20 BT =0T |

(E)  foreg=t (qma) =1 e %9 @ %8 50 7 |

(1) =4 (A). (B). (C) 3T (D) (2) == (B), (C) # (D)
(3)  F=4 (B). (C). D) 31 (E) (4) F== (A). (C). D) = (E)
Options :

5362288577. 1
5362288578. 2
5362288579. 3
5362288580. 4

Sub-Section Number : 3
Sub-Section Id : 53622887
Question Shuffling Allowed : Yes



Question Id : 5362282203 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately, they in a sense, put the behaviour on extinetion. A child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour: yvet it happens all the time. This phenomenon iz also very common
in the world of work. For example, a manager’s work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362282204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362288581. 1
5362288582. 2
5362288583. 3
5362288584. 4

Question Number : 47 Question Id : 5362282205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement 1s withheld from a worker. 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362288585. 1
5362288586. 2
5362288587. 3
5362288588. 4



Question Number : 48 Question Id : 5362282206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362288589. 1
5362288590. 2
5362288591. 3
5362288592. 4

Question Number : 49 Question Id : 5362282207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362288593. 1
5362288594. 2
5362288595.3
5362288596. 4

Question Number : 50 Question Id : 5362282208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362288597. 1
5362288598. 2
5362288599. 3
5362288600. 4

Question Id : 5362282203 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362282204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST 1 AT Gare & Tad FE AR W@ F 00 7 = A 5 w6 2 7

(1) EzzileE At lore
(2) TS SEATHS T
3 Fd AR 2 WW AH=ETF AT

(4) TP ges TidiEman & =@y auh

Options :

5362288581. 1
5362288582.2
5362288583. 3
5362288584. 4

Question Number : 47 Question Id : 5362282205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W TRE AT W WS B SAa%g TRAT AT 7 a1 SEeR UG 34 ||l 'i-Ey eiengd 0 o

g o =il 27

(1) % TEs TH i ATHE

(2)  forFmEa # a =IEEr J
(3)  wmTHAT I T

(4)  TEEHAF qEAAT H I

Options :
5362288585. 1



5362288586. 2
5362288587. 3
5362288588. 4

Question Number : 48 Question Id : 5362282206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I ARl =l ey w9 4 Ht 3uan e SH i iont B 2

(1) 9 =9sd & A9 |

(2) 999 =MEER F [0 TERR F 0 A 1

(3) AFRTHF Taed o

(4) W =EE % 9= | gfed w6 |
Options :
5362288589. 1
5362288590. 2
5362288591. 3
5362288592. 4

Question Number : 49 Question Id : 5362282207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEHF T H TSieid A 909 SAaER U 9ol 7 I 3l THd Bl 7

(1) 7994 =J9=R 90 & 4
@) T R o |
(3) FEERH

(4)  TFEOCHF WA

Options :

5362288593. 1
5362288594. 2
5362288595. 3



5362288596. 4

Question Number : 50 Question Id : 5362282208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 AT F AEfeEad 9 F R wm oA B e

(1) 1 T4 ° TR 3AE 23 FEdl A ™
(2)  TEGF AN AfGEEE % " wE ThEE 9 T6Y W
(3) Ay % i weudE gm

(4) OFcHT Taed & TFRIHF 90y

Options :

5362288597. 1
5362288598. 2
5362288599. 3
5362288600. 4

PART II Social Medicine and Community Health

Section Id : 53622830
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622888
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362282209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which of the following methods will be most effective to educate public about handwashing
practice as safety measure against COVID-19?

(1) Lecture (2) Demonstration
(3) Panel Discussion (4) Seminar
Options :

5362288601. 1
5362288602. 2
5362288603. 3
5362288604. 4

Question Number : 51 Question Id : 5362282209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

yafd waifies gare 2 ?

(1) =N AR CHE
(3) e (4) =H
Options :

5362288601. 1
5362288602. 2
5362288603. 3
5362288604. 4

Question Number : 52 Question Id : 5362282210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In which of the following rates phase of chinical trial, randomized climieal trial 1s carried out

(1) I T
(3) III 4 IV
Options :

5362288605. 1
5362288606. 2
5362288607. 3
5362288608. 4

Question Number : 52 Question Id : 5362282210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fertrer wfiemr ) Frferfiaa syaeen O form 9 arefEss v =1 i whiemn G s 27

(1) I @ II
(3) II1 4) IV
Options :

5362288605. 1
5362288606. 2
5362288607. 3
5362288608. 4

Question Number : 53 Question Id : 5362282211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following rates 1s defined as “the number of daughters a new born girl will
bear during her hifetime assuming fixed age-specific fertility and mortality rates™?

(1) Gross Reproduction Rate (2) Net Reproduction Rate
(3) Age Specific Fertility Rate (4) Total Fertility Rate
Options :

5362288609. 1



5362288610. 2
5362288611. 3
5362288612. 4

Question Number : 53 Question Id : 5362282211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e AT =71 3194 e et 4 fwifed sy fafre gsmaan st 9oy 220 = oo #td gu el st =
s ifi, 7 Frefrfiaa § | e gr afia 27

(1)  H&Fd Y &1 (2) Fae g =
(8)  smg-fafre wsa = (4) F T &
Options :

5362288609. 1
5362288610. 2
5362288611. 3
5362288612. 4

Question Number : 54 Question Id : 5362282212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following 1s true regarding COVID-19 (Novel Corona Virus)?

(A) More common 1n children and adult population

(B)  No specific vaceine 15 available to prevent the disease

(C)  Maintain atleast 1 meter distance from the person who 1s coughing or sneezing

(D)  Mortality Rate is higher in COVID-19 than Severe Acute Respiratory Syndrome
(SARS)

Choose the correct answer from the options given below :

(1) (A). (B), (D) only
(2)  (B). (A, (C) only
3) (O (B). (D) only
4) (D). (A). (C) only

Options :

5362288613. 1

5362288614. 2

5362288615. 3
5362288616. 4

Question Number : 54 Question Id : 5362282212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FIE2-19 (AVerA FRET /A ) F Hed | frafafga § w8 27

(A) o 3 FE SEe  aed: st e[|

B) =4 s = e & foro fafire dadia = 3uersa 3 29

(C)  F\oark €0 | %9 1 . Fi g 57 a1 ate =1 @i @ )

(D)  Fifag-19 H gedet, 1R ofig varas dawn (fgm) (vd v s vl ) i 51 3= 2|

A fasea gfw

(1)  F4E (A), (B). (D)
(2) =4 (B), (A). (C)
(3) a4 (C), (B). (D)

4)  @ad (D). A). (C)
Options :
5362288613. 1
5362288614. 2
5362288615. 3
5362288616. 4

Question Number : 55 Question Id : 5362282213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communicable diseases used specific protection as a public health
intervention historically for the first time?

(1) Typhoid (2) Small Pox
(3) Plague (4) Cholera
Options :

5362288617. 1
5362288618. 2



5362288619. 3
5362288620. 4

Question Number : 55 Question Id : 5362282213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ufderfass wa 4 fafere sfats @ ey sxaam fHefafad § 3 fea G 9 vaed an w7

(1)  ZaHEeS (2) ==
(3 el (4) s
Options :

5362288617. 1
5362288618. 2
5362288619. 3
5362288620. 4

Question Number : 56 Question Id : 5362282214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Among the following. which Health Indicator 1s not included in Disability Rate?

(1) Years of Potential Life Lost (YPLL)

(2) Disability Adjusted Life Years (DALY)
(3) Health Adjusted Life Expectancy (HALE)
(4) Quality Adjusted Life Years (QALY)

Options :

5362288621. 1
5362288622. 2
5362288623. 3
5362288624. 4

Question Number : 56 Question Id : 5362282214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
fraferfiaa O 4 sw ey geahas f3.aera (Teaufaeid) 20 0 afofea 36 27

(1) 33 s Iefume oes o= (96, 9. 06, v, )
2  feavfafad vesnze wigs dad (€ ova.aE.)
(3)  BeY UZSHE g UAHTFIH] (UH. U UA 3. )

@)  FIferdl vseReE g 9 (F.0. U a8, )
Options :

5362288621 1

5362288622 2

5362288623. 3

5362288624. 4

Question Number : 57 Question Id : 5362282215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The performance of individual countries for different components of PQLI 1s placed on which
scale?

(1) 0-1 2y 0-10
(3) 0-50 (40 0-100
Options :

5362288625. 1
5362288626. 2
5362288627. 3
5362288628. 4

Question Number : 57 Question Id : 5362282215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1.7, U, 3118, % <R ° Jafhe w9 A 290 % e -femmes i Tty (SR w2 ?

(1) 0-1 (2) 0-10
(3) 0-50 (49 0-100
Options :

5362288625. 1
5362288626. 2
5362288627. 3
5362288628. 4

Question Number : 58 Question Id : 5362282216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following element of evaluation 1s assessed by an indicator — “The number of
immunizations provided in a vear as compared with an accepted norm™?

(1) Adequacy (2) Effectiveness
(3) Efficiency (4) Impact
Options :

5362288629. 1
5362288630. 2
5362288631. 3
5362288632. 4

Question Number : 58 Question Id : 5362282216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“ush a9 H g T2 7 wfcreon =i\ i w=igd i & | e i T 27 — 39 J9F g0 gediE o+
frferfiaa form a1 st <ran 27
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Options :

5362288629. 1
5362288630. 2
5362288631.3
5362288632. 4

Question Number : 59 Question Id : 5362282217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one 1s not principle of primary health care?

(1) Appropriate technology (2) Community participation
(3) Equitable distribution (4) Health Education
Options :

5362288633. 1
5362288634. 2
5362288635. 3
5362288636. 4

Question Number : 59 Question Id : 5362282217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tk ¥are G -urel 1 fagia Fefatad 3 3 %t 6 27

(1) 39 daieh (2) AT HE TR
(3)  =maHETd faa (4) ¥arEeq e
Options :

5362288633. 1
5362288634. 2
5362288635. 3
5362288636. 4

Question Number : 60 Question Id : 5362282218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In all of the following situations, epidemiologist uses incidence rate EXCEPT

(1) Planning the health and hospital services

(@) Evaluating a prognostic factor

(3) Evaluating the effectiveness of a screening programme
(4) Evaluating the effectiveness of a preventive modality
Options :

5362288637. 1
5362288638. 2
5362288639. 3
5362288640. 4

Question Number : 60 Question Id : 5362282218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U &1 Bt fefafiad vl srawenst § sz 0 fases (ofrefyaeifeee ) smad 22 &1 i & 2

(1) Ty 3R BT (FiPTed) Han s =il g1 99 1|
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(3) = RiHE % waraEiierd] F1 gearHa FE1|
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Options :

5362288637. 1
5362288638. 2
5362288639. 3
5362288640. 4

Question Number : 61 Question Id : 5362282219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tubercle bacillus causing tuberculosis explains which type of causal relationship

(1) Necessary and sufficient (2) Necessary but not sufficient
(3) Sufficient but not necessary (4) Neither sufficient nor necessary
Options :

5362288641. 1
5362288642. 2
5362288643. 3
5362288644. 4

Question Number : 61 Question Id : 5362282219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

&1 17 FHATA] SfaTahed oidetd o TahR o HTIveH: Had ol SIRe] Fdl 2 7

(1)  HEvEF 3 AT (2) HEWF W A
(3) v Al SETEE (4) A7 3 SEEEE
Options :

5362288641. 1
5362288642. 2
5362288643. 3
5362288644. 4

Question Number : 62 Question Id : 5362282220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the level of correlation, if calculated value of Correlation Coefficient (r) 1s 0.67

(1) High (2) Moderate
(3) Low (4) Absolutely No
Options :

5362288645. 1



5362288646. 2
5362288647. 3
5362288648. 4

Question Number : 62 Question Id : 5362282220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

af Heds s o (r) F1 9ERfeTd 919 0.6 2, O FEHas 1w = Erm

(1) 3= (2) #HFd
(3  f4= (4) i A
Options :

5362288645. 1
5362288646. 2
5362288647. 3
5362288648. 4

Question Number : 63 Question Id : 5362282221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The route of administration for 17 D vaccine 1s :

(1) Oral (2) Intra dermal
(3) Subcutaneous (4) Intra muscular
Options :

5362288649. 1
5362288650. 2
5362288651. 3
5362288652. 4

Question Number : 63 Question Id : 5362282221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
17 D ddT 1 Tohe Wl & ormran ST 27

() i (2) #Hd: &=
(3) HAETT HaH (4) @Ha.u3fg
Options :

5362288649. 1
5362288650. 2
5362288651. 3
5362288652. 4

Question Number : 64 Question Id : 5362282222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Savlon 18 a combination of

(1) Cresol and Ethylene oxide (2) Cetrimide and Iodine

(3) Isopropyl alechol and hypochlorite (4) Cetrimide and chlorhexidine

Options :

5362288653. 1
5362288654. 2
5362288655. 3
5362288656. 4

Question Number : 64 Question Id : 5362282222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  Toaia it vgefa AfwEe @ ¥ o A
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Options :

5362288653. 1
5362288654. 2
5362288655. 3
5362288656. 4

Question Number : 65 Question Id : 5362282223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following method 1s used to collect data on behavioural aspects in WHO STEPS
approach for surveillance of rsk factors of non communicable diseases?

(1) Chnical examination (2) Observation
(3 Interview (4) Investigation
Options :

5362288657. 1
5362288658. 2
5362288659. 3
5362288660. 4

Question Number : 65 Question Id : 5362282223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faeferfaa 4 == =@ vagfa =1 w2 sE=d i & Sifag s f P S oo gey e s, 5 w2
(STEPS) Ui 4 sIderiish Tacl3il W TS| &l Ushd i o fofu g 27

(1) e adiam (2) HIATFA
(3)  HIETeFR (4) <=
Options :

5362288657. 1
5362288658. 2
5362288659. 3
5362288660. 4

Question Number : 66 Question Id : 5362282224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which method of economic evaluation is the cost compared with the benefits measured in
healthy years?

(1) Cost Benefit Analysis (2) Cost Effectiveness Analysis
(3) Cost Utility Analysis (4) Cost Minimization Analysis
Options :

5362288661. 1
5362288662. 2
5362288663. 3
5362288664. 4

Question Number : 66 Question Id : 5362282224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT goarera 1 T aafa § Fimd i qormn care aui 1 9 @i o @9 S 2
(1)  Fraa =y fagemm (2)  hma wrEierd favemm
(3)  FIma sudifiran fagero (4) a2 fager)



Options :

5362288661. 1
5362288662. 2
5362288663. 3
5362288664. 4

Question Number : 67 Question Id : 5362282225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The infective dose of Vibrio Cholerae required to produce the climical disease is

organisms

(n  10° (7 10"
(3 10" 4) 10°
Options :

5362288665. 1
5362288666. 2
5362288667. 3
5362288668. 4

Question Number : 67 Question Id : 5362282225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HgTH T 1 309 T o Toru faferl e = siaad il Sayas guE G 2

(1) 10° & ao®
(3) 10 4) 10°
Options :

5362288665. 1
5362288666. 2
5362288667. 3
5362288668. 4



Question Number : 68 Question Id : 5362282226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In an entomological survey. a total of 85 fleas were collected from 20 rodents. Out of the total
fleas, 40 were of Xenopsylla cheopis species. Xenopsylla cheapis index 1s

(1) 2 &y 23
(3) 2.25 4 25
Options :

5362288669. 1
5362288670. 2
5362288671. 3
5362288672. 4

Question Number : 68 Question Id : 5362282226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

diefasm HaHl v e 4 20 Ueed (Fask aofl) 4 %t 85 fieg (wefia) vshfza fore o) et e O 4
40 SHICETEE H3TTUs TSt off | SHETger e -

(1) 2 2) 21
(3) 2.25 (4) 2.5
Options :

5362288669. 1
5362288670. 2
5362288671. 3
5362288672. 4

Question Number : 69 Question Id : 5362282227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



After having a quarrel with her husband. a wife attempted suicide by taking sleeping pills.
Which kind of violence 1t 127

(1) Interpersonel Viclence (2) Domestic Viclence
(3) Self-directed Violence (4) Collective Violence
Options :

5362288673. 1
5362288674. 2
5362288675.3
5362288676. 4

Question Number : 69 Question Id : 5362282227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Uk Tl 5 A9 9fd § Feta o a1e e =l Mol = Hea i streEen & vy fea | 2z fea ven i fEa g

(1)  sAadafes fE (2) =] fEe
(3)  ra-faEfama (4) argfee fEm
Options :

5362288673. 1
5362288674. 2
5362288675.3
5362288676. 4

Question Number : 70 Question Id : 5362282228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The most common cause of traveller's diarrhoea 1s

(1) Salmonella (2) Shigella
(3) Enterotoxigenic E.Col1 (4) Campylobacter Jejuni
Options :

5362288677. 1



5362288678. 2
5362288679. 3
5362288680. 4

Question Number : 70 Question Id : 5362282228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At § erafon w5 gaifos e w27

(1)  HfeEHe @) fariren
(3) VAT TFATSI 3. il (4) FrITEe SF A
Options :

5362288677. 1
5362288678. 2
5362288679. 3
5362288680. 4

Question Number : 71 Question Id : 5362282229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

One vyear old child, weighing 8 kg, present with diarrhoea since 2 days. On assessment he
has some dehvdration. How much amount of ORS does he require for rehydration during
first four hours?

(1) 200 ml (2) 400 ml
(3) 600 ml (4) 800 ml
Options :

5362288681. 1
5362288682. 2
5362288683. 3
5362288684. 4

Question Number : 71 Question Id : 5362282229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
U dY | ATereh, (e a9d 8 fhetm 2, @1 fq | sifaan (srfen) 4 difsa 21 goarsa #0 ® 38y Fe
Feetefraron o | we = =2 % S 38 gAsiclia o fore 1. s, v . g 1 o i Ay 2 ?

(1) 200 faefefi (2) 400 foefietiz
(3) 600 MWefiefiz (4) 800 Tefefia
Options :

5362288681. 1
5362288682. 2
5362288683. 3
5362288684. 4

Question Number : 72 Question Id : 5362282230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which 1s not true about Trombiculoid mite?

(1) 3 pairs of legs (2) It causes typhus
(3) It lives 1n so1l (4) It has nymphal stage
Options :

5362288685. 1
5362288686. 2
5362288687. 3
5362288688. 4

Question Number : 72 Question Id : 5362282230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS WIge o IR U S w1 w9 27
O W3 @ g v ifh S (2Ta) Fen @

3) gefuefdiwa? (4) zAd9 FHOF SFEEen g 2



Options :

5362288685. 1
5362288686. 2
5362288687. 3
5362288688. 4

Question Number : 73 Question Id : 5362282231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following vitamin deficiency always occurs in association with deficiency of
other vitamins?

(1) Thiamine (2) Niacin
(3) Riboflavin (4) Pyridoxine
Options :

5362288689. 1
5362288690. 2
5362288691. 3
5362288692. 4

Question Number : 73 Question Id : 5362282231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frfetfiga 4 om | i 6 wf gat faerfim 6 a9 aeed § g39 afed d@d 27

(L) OIDHIE] © Fraw
Options :

5362288689. 1
5362288690. 2
5362288691. 3
5362288692. 4



Question Number : 74 Question Id : 5362282232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second curve in the Growth Chart used in ICDS adopted by the Ministry of Women and
Child Development corresponds to which of the following parameter?

(1) Median (2) -2 Standard Dewviation
(3) —1 Standard Dewviation (4) -3 Standard Deviation
Options :

5362288693. 1
5362288694. 2
5362288695. 3
5362288696. 4

Question Number : 74 Question Id : 5362282232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fal

afeetl SR °ret T 9o g 36,9 9. va. | Hafg s A fEd 3 Fefafad e gre & foo 27

(1) e (2) —2 U fa=er
(3) -1 4MH F=eE (4) —3uH fa=aer
Options :

5362288693. 1
5362288694. 2
5362288695. 3
5362288696. 4

Question Number : 75 Question Id : 5362282233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Normal conversation produces a noise of

(1) 60 — 65 dB (2) 20-35dB
(3) 60 — 85 dB (4) B85 dB
Options :

5362288697. 1
5362288698. 2
5362288699. 3
5362288700. 4

Question Number : 75 Question Id : 5362282233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T AT O TR gty 3a0g 2 27

(1) 60 — 65 =He (2) 20— 35 =i
(3) 60— 85 =xide (4) 85 <HEA
Options :

5362288697. 1
5362288698. 2
5362288699. 3
5362288700. 4

Question Number : 76 Question Id : 5362282234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per RCH program, what will be the minimum number of ANC wisits that every pregnant
lady should get?

(1) 2 & 3
(3) : 4 5
Options :



5362288701. 1
5362288702. 2
5362288703. 3
5362288704. 4

Question Number : 76 Question Id : 5362282234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST v e 3 e faradl =gEan v va o ues wiadi wfzen i fafse frerd anfze?

(1) 2 2y 3
(3) 4 4 5
Options :

5362288701. 1
5362288702. 2
5362288703. 3
5362288704. 4

Question Number : 77 Question Id : 5362282235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an indicator of population statistics?

(1) Sex-ratio (2) Mortahty Rates
(3) Fertility Rates (4) Lafe expectancy at birth
Options :

5362288705. 1
5362288706. 2
5362288707. 3
5362288708. 4

Question Number : 77 Question Id : 5362282235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

fryfetfiaa O & i o sHEE Fifersdl 1 a2 7

(1)  fem-sguE (2) Yy
3) WS (4) <=9 % g Sfraq geamn
Options :

5362288705. 1
5362288706. 2
5362288707. 3
5362288708. 4

Question Number : 78 Question Id : 5362282236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If annual growth rate of a given country 1s 1.6, it can be rated as

(1) Moderate (2) Ramd
(3) Very Rapid (4) Explosive
Options :

5362288709. 1
5362288710. 2
5362288711.3
5362288712. 4

Question Number : 78 Question Id : 5362282236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3z ot 21 o6 anfifh fe 22 1.6 2, 38 90 9 0 wwen S wwd R

(1) H¥d (2 =z
(3) @i zd (4 Favwd
Options :

5362288709. 1
5362288710. 2
5362288711. 3
5362288712. 4

Question Number : 79 Question Id : 5362282237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The approximate magnitude of the completed family s1ze can be revealed by

(1) Total fertility rate (2) Natural growth rate
(3) Crude barth rate (4) Net reproduction rate
Options :

5362288713. 1
5362288714. 2
5362288715.3
5362288716. 4

Question Number : 79 Question Id : 5362282237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g ofCET ST 3 o fergams =1 wen forah g o e 27

(1) FE TS (2 YHidF qha
(3)  SAYIieE o0 & (4) & TG
Options :

5362288713. 1
5362288714.2
5362288715. 3
5362288716. 4

Question Number : 80 Question Id : 5362282238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A combined oral contraceptive method was started by 200 married women at the same time
and continued by them without any break for 5 years. During this period. if 10 women

become pregnant, the pearl index of contraceptive method in Hundred Woman-Years of
exposure (HWY) 1s

(1) 0.1 (2) 1
(3) 10 (4) 100
Options :

5362288717. 1
5362288718. 2
5362288719.3
5362288720. 4

Question Number : 80 Question Id : 5362282238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



w Ak @ 19 e wata w5 wam 200 farfzd wfzensti gw vk 8w wosiy R s gz T
ek AR S ad ok =efl| 39 Hafa 4 afz 10 afeare ndaf €1 wh, @ gfzen-a9 (HWY) 3g9ma 8 14
EUPERFATEIRE R CEaC

(1) 0.1 ) 1
(3) 10 (4) 100
Options :

5362288717. 1
5362288718. 2
5362288719. 3
5362288720. 4

Question Number : 81 Question Id : 5362282239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

All of the following are examples of Mass Approach for Health Commumication except :

(1) Folk media (2) Health Museum
(3) Exhibition (4) Role play
Options :

5362288721. 1
5362288722.2
5362288723.3
5362288724. 4

Question Number : 81 Question Id : 5362282239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frmferfiaa 3 & R ware dem % fo segd 3 = Jare 921 87

(1) e itz (2) TaTe HUETER
(3) WA (4) ufirr Hafz



Options :

5362288721. 1
5362288722.2
5362288723.3
5362288724. 4

Question Number : 82 Question Id : 5362282240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

All of the following are the Health Education Approaches except

(1) Service (2) Primary Health Care
(3) Regulatory {(4) Feedback
Options :

5362288725. 1
5362288726. 2
5362288727.3
5362288728. 4

Question Number : 82 Question Id : 5362282240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

F=ferfiad d fora v =01 212 o+ i Ty fonen 3unm 27

(1) o= (2) Wi ey SEard
@  faFEm (@ wfagfe (Frsv)
Options :

5362288725. 1
5362288726. 2
5362288727.3
5362288728. 4

Question Number : 83 Question Id : 5362282241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
What 1s the type of communication when 4 experts are invited from all over world to present
and discuss their views on COVID-19 pandemic and its prevention strategies for India

infront of large audience. moderated by chairman?

(1) Symposium (2) Panel discussion
(3) Group discussion (4) Seminar
Options :

5362288729. 1
5362288730. 2
5362288731.3
5362288732. 4

Question Number : 83 Question Id : 5362282241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afe #ifag-19 geEmil 37 9rE 4 o) Hawo oEiTaEl & 9@ d 921 9eT 0 g971 o Jhe, HEaE & gl
4, gegfa 34 o fero ot gfan & 4 fagiosi =61 simifza foran stan 2 1 @ fo wemm o H=m 27

(1) fqeTiferay @) et ==
(3)  @MfEsw == (4) THHER
Options :

5362288729. 1
5362288730. 2
5362288731.3
5362288732. 4

Question Number : 84 Question Id : 5362282242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The Health Index based on various indicators formulated by the NITI Aavog 1s divided into

the following three domains except

(1) Health outcomes (2) Governance and Information
(3) Key 1nputs and process (4) Health economics
Options :

5362288733. 1
5362288734. 2
5362288735. 3
5362288736. 4

Question Number : 84 Question Id : 5362282242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i s gr e Tt e @ snaTia e gas # Fefafea 3 3 6 v & e o e b
faraes foen wram 27

(1)  *ares gt (2) A 3R A
(3) Y HEH AR g (4) wETe AR
Options :

5362288733. 1
5362288734.2
5362288735.3
5362288736. 4

Question Number : 85 Question Id : 5362282243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following was World AIDS Day theme of 2019?

(1) Hands up for HIV prevention (2) My Health. My Rights
(3) Know Your Status (4) Communities Make the Difference
Options :

5362288737. 1
5362288738. 2
5362288739. 3
5362288740. 4

Question Number : 85 Question Id : 5362282243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frferfiaa 9 & sH 2019 = fava vey faga 1 dm (et foava) an?

(1)  w=. {16 Fi Tehemd & fore 219 7qe (2) O e W AT
3) sk feafa = sifg (4) HYeErE fEdd @rd 2
Options :

5362288737. 1
5362288738. 2
5362288739.3
5362288740. 4

Question Number : 86 Question Id : 5362282244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The GOBI campaign under the UNICEF includes which of the following strategies?

(1) Growth Chart, Oral Rehvdration. Breast Feeding. Immunization

(2 Growth Chart, Oral Rehydration, Birth Weight. Immunization

(3) Growth Chart, Oral Rehydration. Breast Feeding. Infectious Disease Prevention
(4) Growth Chart, Oral Rehydration. Breast Feeding, Infant Mortality Rate

Options :

5362288741. 1
5362288742. 2
5362288743. 3
5362288744. 4

Question Number : 86 Question Id : 5362282244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freferfian o 4 =med vl O gfaae = siaia sfi.si &, s, affe 27
1)  gfg =, g 8 g el waaE, gidefim

(2)  gfg =, g 8 g Ssrefien, 99 % 999 R, gl

(3)  dfg =R, Y 8 [ A, T, S, S 6 T

@) gfa=rd, 9@ @ g e, W, e gey

Options :

5362288741. 1
5362288742.2
5362288743. 3
5362288744. 4

Question Number : 87 Question Id : 5362282245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Health status indicator under the "Health For All” by 2000 AD includes all of the following
except

(1) Low Birth Weight Proprotion (2) Child-Women Ratio
(3 Disability Prevalence (4) Life Expectancy at Birth
Options :

5362288745. 1
5362288746. 2
5362288747. 3
5362288748. 4

Question Number : 87 Question Id : 5362282245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tq 2000 9% “gufi = oo e & saia ey foufd deds + daia aftfea faafeafiaa ad 9 3 Fam
IS 27

(1) 99 % 59 9 91 sHIE (2) AT -aMTeTH ST
(3)  TH-rehdn g=e (4) 51 =TT SfEH Tedm
Options :

5362288745. 1
5362288746. 2
5362288747. 3
5362288748. 4

Question Number : 88 Question Id : 5362282246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal was launched on

(1) 20 September 2015 {(2) 25 March 2015
(3) 25 June 2015 (4) 25 December 2015



Options :

5362288749. 1
5362288750. 2
5362288751.3
5362288752. 4

Question Number : 88 Question Id : 5362282246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hefd T e 1 el Ty o ot

(1) 25 T@as, 2015 (2) 259H, 2015
(3) 2594, 2015 (4) 25 fagar, 2015
Options :

5362288749. 1
5362288750. 2
5362288751.3
5362288752. 4

Question Number : 89 Question Id : 5362282247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which are the countries not included under WHO SEARO regions?

(A) Timor - Leste
(B) Myanmar

(C)  Afchanistan
(D)  Pakistan

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only
Options :

5362288753. 1
5362288754. 2

5362288755. 3
5362288756. 4

Question Number : 89 Question Id : 5362282247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e

e U 31, UF § U, 370 3 EEl o sentd 1 8 9 98 ard 27

(4)  foam e

(B) HIMH

(C)  AETFEAH

) IRLECSIE

el o ) faeredi 09 wdl 3w =i .

(1)  =ad (A) 31 (B)
(2)  de (B) 31 (C)
(3) %4 (C) 31 (D)

4 FF (A) 3 (D)
Options :
5362288753. 1
5362288754. 2
5362288755.3
5362288756. 4

Question Number : 90 Question Id : 5362282248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Where first conference on Health Promotion was held in Nov. 19867

(1) Ottawah (2) Jakarta
(3) New Delhi (4) Geneva
Options :

5362288757. 1
5362288758. 2
5362288759. 3



5362288760. 4

Question Number : 90 Question Id : 5362282248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fae 1986 U TR HaH W Tael| HiHH Fal 18 417

(1) e (2)
(3) A5 fEE 4) S
Options :

5362288757. 1
5362288758. 2
5362288759. 3
5362288760. 4

Question Number : 91 Question Id : 5362282249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true for Village Health Sanitation and Nutrition Committee
(VHSNC)?
(A) Organize Village Health and Nutrition Day every month

(B) Female health worker works with VHSNC to develop comprehensive village health
plan

(C) At least 50% members should be women

(D)  Receive yearly untied grant of Rs. 20,000/-

Choose the most appropriate answer from the options given below :

(1) (B) and (D) only
(2) (A) and (C) only
(3) (C) and (D) only

(4) (A) and (B) only
Options :
5362288761. 1
5362288762.2
5362288763. 3
5362288764. 4

Question Number : 91 Question Id : 5362282249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



freforfaa o O =90 saa um e | sl S 9 afafa (3. oe o 3 ) & ad w8 27

(A) i um ey st g feay 5  sEeE|

(B) Afgen T@rew FRFAl A TAUTAUAH. & WY SN UM TEREEg A9 & 9ed
FIdl 2|

(C)  =gFd4 50 WidvId Hew2 Hizen 2 =fzu)
M) 20,000 %93 1 ATfF Au-RTEd HZH 0|

e e 2 faskedi €9 | 3w g
(1)  =ad (B) #T (D)
(2)  Had (A) 31 (C)

(3)  #dd (C) 3R (D)

4 FAd () 3 (B)
Options :
5362288761. 1
5362288762. 2
5362288763. 3
5362288764. 4

Question Number : 92 Question Id : 5362282250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Evaluation?

(A4)  Measures the productivity of available resources.
(B) Make possible the reallocation of resources.
(C)  Helps identifying deviation and taking corrective action.

(D)  Assess the achievement of the stated objectives of a programme.

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (D) only
(3) (A). (C). (D) only

(4) (A). (B). (D) only

Options :

5362288765. 1
5362288766. 2
5362288767. 3
5362288768. 4

Question Number : 92 Question Id : 5362282250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Freferfiaa | | #198 Fua gedis- o a1 H |7 27

(A)  F9eTsH BHTHEE] il IeaTEdl 1 °IYE FHTd 2 |
(B)  @EEHI & YA il W9 =T 2
(C)  Taarer i il ve=m # 31 garTars: FHarE - H Fard Fid 2 |

(D)  SIAEY o Sdely I 359 6l Y114 1 godie- il 2|
=l T2 7 faeredl 6 9 |1l s g

() a4 (4) 3 (©)

(2)  @ad (B) 31 (D)

(3) #4(4), (C). D)

(4) %A (A), (B), (D)

Options :

5362288765. 1
5362288766. 2
5362288767. 3
5362288768. 4

Question Number : 93 Question Id : 5362282251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A good message to transmit the information to audience for a successful communication

must be

(4)  Meaningful
(B) Fitting the Audience
(C) Cost effective

(D)  Culturally and socially appropriate

Choose the correct answer from the options given below :

(1) (A). (C). (D) only
(2) (A). (B), (D) only
(3)  (B). (C), (D) only

(4) (A). (B). (C) only

Options :

5362288769. 1
5362288770. 2
5362288771.3
5362288772. 4

Question Number : 93 Question Id : 5362282251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A T8 o felu, 3199 AT =1 a1 95T 3 3 folu 31=a de =i @1 & =feu?

(A)  Huy
B) Al HE
(C)  ATTd-94rei

(D)  ArEklde SR A 59 3 39®
e T2 fasredi 4 4wl 3@ gfRa

(1)  Fa (&), (0). (D)

(2)  FaEd (A), (B). (D)

(3)  #ad (B), (C). (D)

(4)  Fad(A), B). (C)

Options :

5362288769. 1
5362288770. 2
5362288771. 3
5362288772. 4

Question Number : 94 Question Id : 5362282252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods are used to calculate contraceptive efficacy?

(A)  Life-table analysis
(B) Delphi-Techmque
(C) Chandler Index

(D) Pearl Index

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (D) and (A) only

Options :

5362288773. 1
5362288774.2
5362288775. 3
5362288776. 4

Question Number : 94 Question Id : 5362282252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fferiaa | & fo faferi %1 mifriaes 6 waraier@anan &l T 4 S fn a2 7

(A)  E%-dae UATfArH
B)  =hl-dFT

(C) =i 2239

D) Ue 3=aH
e e faehedi 9 9wl 39 g

(1)  =ad (A) 31 (B)
(2)  ad (B) 31 (C)
(8)  FAd (C) 3 (D)

(4 Fad (D) 3 (A)
Options :
5362288773. 1
5362288774.2
5362288775.3
5362288776. 4

Question Number : 95 Question Id : 5362282253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following international agencies are supporting the family planning services?

(A) Ford Foundation
(B) Pathfinder Fund
(C)  Rockefeller Foundation

(D) The Colombo Plan

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
() (B). (C) and (D) only
(3) (C). (D) and (A) only

(4) (A), (B) and (D) only

Options :

5362288777. 1
5362288778. 2
5362288779. 3
5362288780. 4

Question Number : 95 Question Id : 5362282253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Toafefaa 0 o sad s s ofan FaeE gs #6omda 2 w@ el
(A)  BIE BETHE

(B)  9I1Y FESFES

(C)  Tiwbol HIISIH

(D) 2 Al A

el fod ) faeredi O | B 3w g4

(1) =4 (A), (B) ¥ (C)

(2) %4 (B), (C) 31 (D)

(3)  ad (C). (D) 3 (A)

(4)  F4d (A), (B) 3 (D)

Options :

5362288777. 1
5362288778. 2
5362288779. 3
5362288780. 4

Question Number : 96 Question Id : 5362282254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are non-invasive methods of contraception?

(A) Rhythm Method
(B) Mirena
(C)  Pomeroy Techmque

(D)  Billings Method

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (D) and (A) only

Options :

5362288781. 1
5362288782.2
5362288783. 3
5362288784. 4

Question Number : 96 Question Id : 5362282254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Trfefiaa d @ s md fess = 97 sata fataar 87

A) frgadus
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\el fased gfu

(1)  ad (A) 31 (B)
(2) A« (B) #1 (C)
(3)  %dd (C) 1 (D)

(4) e (D) 3 (A)
Options :
5362288781. 1
5362288782.2
5362288783. 3
5362288784. 4

Question Number : 97 Question Id : 5362282255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In which of the following health conditions, a medical surveillance is required for the use of
oral contraceptive pills?

(A) Chronic Renal Disease

(B) Cardiac Abnormalities

(C) (GGall Bladder Disease

(D) Breast Cancer

Choose the correct answer from the options given below :

(1) (A). (C) only
(2) (B). (D) only
(3)  (A). (B). (D) only
(4) (B). (C). (D) only

Options :

5362288785. 1
5362288786. 2
5362288787.3
5362288788. 4

Question Number : 97 Question Id : 5362282255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =44 (A), (O)

(2)  #4d (B), (D)

(3)  ad (A). (B). (D)

(4)  *4ad (B). (C). (D)

Options :

5362288785. 1
5362288786. 2
5362288787. 3
5362288788. 4

Question Number : 98 Question Id : 5362282256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Following laboratory tests are carried out for the diagnosis of lead poisoning

(A) Amino acetic acid in urine
(B) Basophilic stipling of RBC
(C) Elood lead level

(D)  Coproporphyrin in urine

Choose the correct answer from the options given below :

(1) (A). (C) and (D) only
(2) (B). (A) and (D) only
(3)  (B). (C) and (D) only

(4) (A), (B) and (C) only

Options :

5362288789. 1
5362288790. 2
5362288791. 3
5362288792. 4

Question Number : 98 Question Id : 5362282256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  =ad (4), (C) 31 (D)

(2 4 (B), (A) 31 (D)

(3)  %dd (B). (C) 3 (D)

(4)  Fad (A), (B) R (C)

Options :

5362288789. 1
5362288790. 2
5362288791. 3
5362288792. 4

Question Number : 99 Question Id : 5362282257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The limiting aminoacid in wheat 1s

(A) Lysine
(B) Methionine
(C) Cysteine

(D)  Threonine

Choose the correct answer from the options given below :

(1)  (A) and (B) only
(2) (B) and (C) only
(3) (A) and (D) only
(4) (B) and (D) only

Options :

5362288793. 1
5362288794. 2
5362288795. 3
5362288796. 4

Question Number : 99 Question Id : 5362282257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  ad (A) 31 (B)
(2)  ad (B) 3 (C)
(3)  Had (A) 31 (D)

(4)  %ad (B) 3l (D)

Options :

5362288793. 1
5362288794. 2
5362288795. 3
5362288796. 4

Question Number : 100 Question Id : 5362282258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Diseases transmitted by louse are

(A) Scrub typhus
(B) Q fever
(©) Epidemic typhus

(D) Trench fever

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (D) only
(3) (C) and (D) only

(4) (A) and (D) only

Options :

5362288797. 1
5362288798. 2
5362288799. 3
5362288800. 4

Question Number : 100 Question Id : 5362282258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  =ad (A) 31 (C)

(2)  #Fa« (B) 31T (D)

(3)  =Had (C) 31 (D)

(4)  ad (A) 3 (D)

Options :

5362288797. 1
5362288798. 2
5362288799. 3
5362288800. 4

Question Number : 101 Question Id : 5362282259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following equipment according to their capacity to hold the vaccines

(A)  Vaccine carriers
(B)  Day carrers
(C) Ice Packs

(D)  Ice-lined refrigerators

Choose the correct answer from the options given below :

(1) (B). (C). (A). (D)
(2) (C). (B). (A). (D)
3 D). ®B). (). A)

(4) (B). (A). (C). (D)

Options :

5362288801. 1
5362288802. 2
5362288803. 3
5362288804. 4

Question Number : 101 Question Id : 5362282259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  (B.(C), A). D)
2) (0. (B). A). D)

(3) (D). B). (O). (A)

4 (B). (A (C). (D)
Options :
5362288801. 1
5362288802. 2
5362288803. 3
5362288804. 4

Question Number : 102 Question Id : 5362282260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following 1s true regarding “Blocked Flea™

(A) Efficient transmitter of Plague
(B) It makes frantic efforts to bite and suck blood over and over again
(C) A completely blocked flea 13 more dangereous than partially blacked flea

(D) It may 1ngest upto 0.5 cu.mm of blood

Choose the correct answer from the options given below :

(1) (A (B). (D)only
(2) (B). (C), (D) only
(3)  (A).(C). (D) only

(4) (B). (A). (C) only
Options :

5362288805. 1

5362288806. 2

5362288807. 3

5362288808. 4

Question Number : 102 Question Id : 5362282260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  *a (A), B). (D)
(2) % (B). (O). (D)
3  #AE (A), (O). (D)
(4)  F49d (B). (A). (C)
Options :
5362288805. 1
5362288806. 2

5362288807. 3
5362288808. 4

Question Number : 103 Question Id : 5362282261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



As per the expanded WHO case defimition for AIDS, surveilllance among adults or
adolescents. which of the following conditions are included?

(A) Invasive cervical cancer

(B) Chronic progressive Herpes simplex

(C) Cryptococcal Meningitis

(D)  Candidiasis at the oesophagus

Choose the correct answer from the options given below :

(1) (A). (B). (C) only
(2)  (B). (C). (D) only
(3)  (A).(C). (D) only

(4) (A). (B). (D) only

Options :

5362288809. 1
5362288810. 2
5362288811. 3
5362288812. 4

Question Number : 103 Question Id : 5362282261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) %A (A). (B). (O)
(2) %A (B), (C). (D)
(3) %A (A). (C). (D)

4) a4 (A), (B). D)

Options :

5362288809. 1
5362288810. 2
5362288811. 3
5362288812. 4

Question Number : 104 Question Id : 5362282262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The objectives of a National Framework for Malara Ehmination in India are.

(A) Eliminate Malaria from all 26 low and moderate transmission states/UTs by 2022
(B) Interrupt indegenous transmission of Malaria by 2027

(C) Reduce the Incidence of Malaria to less than 5 case per 1000 population per vear by
2024

(D) Prevent the re-establishment of local transmission of Malaria from eliminated areas
by 2030

Choose the correct answer from the options given below :

(1)  (B). (D). (&) only
@ (D). @A), (C) only
(3)  (O).(A). (D) only

(4)  (A).(C). (B)only
Options :
5362288813. 1
5362288814. 2
5362288815. 3
5362288816. 4

Question Number : 104 Question Id : 5362282262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) %4 (B), (D). (A)

(2)  Fdd (D). (A). (C)

(3)  %ad (C). (A). (D)

4)  Fdd (A). (C). (B)

Options :

5362288813. 1
5362288814. 2
5362288815.3
5362288816. 4

Question Number : 105 Question Id : 5362282263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following viral infections can cause diabetes in immunogenetically susceptible
people?

(A) Mumps

(B) Measles

(C) Rubella

(D) Human coxsackie virus B4

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A). (C) and (D) only

(4) (A). (B) and (D) only

Options :

5362288817. 1
5362288818. 2
5362288819. 3
5362288820. 4

Question Number : 105 Question Id : 5362282263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  =ad (A) 31 (B)

(2) A« (B) 1 (C)

(3) A (A), (C) 3 (D)

(4) A (A), (B) 3 (D)

Options :

5362288817. 1
5362288818. 2
5362288819. 3
5362288820. 4

Question Number : 106 Question Id : 5362282264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are contraindication to use Bedaquiline (BDQ) 1n treatment of
Multidrug Resistant Tuberculosis (MDR-TB)

(A)  Age of patient = 18

(B) Pregnancy

(C) Patient using hormonal based birth control measure

(D) Postmenopausal for past 2 years

Choose the correct answer from the options given below :

(1) (A). (B) only
(2)  (B).(C)only
(3) (C). (D) only
(4) (D). (A) only

Options :

5362288821. 1
5362288822. 2
5362288823. 3
5362288824. 4

Question Number : 106 Question Id : 5362282264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  %dd (A), (B)

(2)  %ad (B). (O)

(3) A« (C), (D)

(4 Fad (D), (A)
Options :
5362288821. 1
5362288822. 2
5362288823. 3
5362288824. 4

Question Number : 107 Question Id : 5362282265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are methods to measure health gains for Cost Benefit Analysis
(CBA)?

(A) System analysis
(B) Social audits
(C) Human Capital approach

(D)  Willingness to pay approach

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A). (B) and (C) only
(4) (B). (C) and (D) only

Options :

5362288825. 1
5362288826. 2
5362288827.3
5362288828. 4

Question Number : 107 Question Id : 5362282265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT T Taveryor (Hiie) & fou fafaiaa 0 8 wame ang g fafen SR gy

(A)  Torre] faverr
(B)  HTETTIa gl
(C) 94 sl 39Ty

D) YT H3 TH
e fed 1w fashedi 0 | vl 3 g
(1)  Fa (A) 31 (B)
(2)  =ad (C) 3 (D)

(3)  Fdd (A), (B) 3 (C)

(4) 49 (B). (C) 3 (D)

Options :

5362288825. 1
5362288826. 2
5362288827.3
5362288828. 4

Question Number : 108 Question Id : 5362282266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following biomedical waste can be collected 1n vellow coloured plastic
bag/container?

(A) Human organs
(B) Urine bags
(C) Broken vials/ampoules

(D) Dressings and cotton swabs

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only
Options :
5362288829. 1
5362288830. 2
5362288831. 3
5362288832. 4

Question Number : 108 Question Id : 5362282266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(3)  ad (C) 3 (D)

(4)  Fad (A) 31 (D)

Options :

5362288829. 1
5362288830. 2
5362288831. 3
5362288832. 4

Question Number : 109 Question Id : 5362282267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are examples of Non-Probability Sampling?

(A)  Lot-Quality Assurance
(B) Snow-ball Techmque
(C) Quota Sampling

(D) Cluster Sampling

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (D) and (A) only

Options :

5362288833. 1
5362288834. 2
5362288835. 3
5362288836. 4

Question Number : 109 Question Id : 5362282267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288833. 1
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5362288835.3
5362288836. 4

Question Number : 110 Question Id : 5362282268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Following are the advantages of sentinel surveillance

(4)  Reliable
(B) Representative of general population
(C) Accurate

(D) Incidence can be calculated

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (B) and (D) only
Options :
5362288837. 1
5362288838. 2
5362288839. 3
5362288840. 4

Question Number : 110 Question Id : 5362282268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288837. 1
5362288838. 2
5362288839. 3
5362288840. 4

Question Number : 111 Question Id : 5362282269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the provisions of

“The Cigarettes and other Tobacco products (Prohibition of Advertisement and Regulation of
Trade and Commerce. Production. Supply and Distribution) Act (COTPA). 2003.7

(A)  Ban on smoking in public places

(B) Ban on sale of Cigarette to a perzon below the age of 21

(C)  Regulation of smoking scenes in movies

(D)  Ban on =ale of tobacco products within 500 yvards of education institutions

Choose the correct answer from the options given below :
(1) (B) and (C) only
(2) (C) and (D) only
(3) (A) and (B) only
(4) (A) and (C) only

Options :

5362288841. 1
5362288842. 2
5362288843. 3
5362288844. 4

Question Number : 111 Question Id : 5362282269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288841. 1
5362288842. 2
5362288843. 3
5362288844. 4

Question Number : 112 Question Id : 5362282270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are considered as mortality indicators of health?

(A) Case Fatality Rate
(B) Health Adjusted Life Expectancy
(C) Years of Potential Life Lost

(D)  Expectation of Life

Choose the correct answer from the options given below :

(1) (A). (C) only
(2) (A), (D) only
(3) (A). (C), (D) only

4 (A). (B). (D) only
Options :
5362288845. 1
5362288846. 2
5362288847.3
5362288848. 4

Question Number : 112 Question Id : 5362282270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faeaferfiaa | 9 fof=s e o geg 3 HEe gH] STl 27

(A) FHTFA
(B) T A S Tere
(C)  Hwrfaa sfias ad 6 afq

D) g gearsn

A T2 fashed) 4 4wl s g
(1)  dd (A), (O)

(2) A (A), (D)

(3)  @ad (A), (C). (D)

4  FaE Q). B). D)
Options :
5362288845. 1
5362288846. 2
5362288847. 3
5362288848. 4

Question Number : 113 Question Id : 5362282271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Following are the indicators used to measure the Physical Quality of Life Index (PQLI)

(A) Infant mortality rate
(B) Life expectancy at age one
(C) Life expectancy at birth

(D)  Literacy rate

Choose the most appropriate answer from the options given below :

(1)  (A) and (B) only
(2) (A, (C). (D) only
(3) (A). (D) only

(4) (A). (B). (D) only

Options :

5362288849. 1
5362288850. 2
5362288851. 3
5362288852. 4

Question Number : 113 Question Id : 5362282271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e = difee Toremn g (N v 31E) 1A & fore vy sy efatea O 8 #h 37

@A) Fryg s
(B) U ad i S 9 SiE Tean
(C) =199 % Ty Sfiaq g=amen

(D)  HIET &t

1=l fer 1) v 1 & wffess gk 3o g

(1)  =ad (A) 31 (B)
(2) A« (A), (C). (D)
(3)  #FEd (A), (D)

4) %A (A), (B), (D)

Options :

5362288849. 1
5362288850. 2
5362288851. 3
5362288852. 4

Question Number : 114 Question Id : 5362282272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following International Health Agencies are having their Head Quarter in
Geneva, Switzerland?

(A) International Labour Organmzation
(B) United Nations International Children’s Emergency Fund
(C) World Health Organization

(D)  Food and Agriculture Organization

Choose the correct answer from the options given below :

(1) (B). (D) only
(2) (A). (C) only
(3) (C). (D) only

4)  (B). (C)only
Options :

5362288853. 1
5362288854. 2
5362288855.3
5362288856. 4

Question Number : 114 Question Id : 5362282272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



freaferfian | 4 o sTawndTa waree v 1 gerer siHal, wiestels § 27
(A)  FAETHE 94 T3

B)  HgH U YT a1 s feafa Fi

(C)  Tava wares g

D)  w@rE N FHN F1Ee
= T 3 fosedi 08 &l s A

(1)  %a (B). (D)
(2) 4 (A), (O)
(3)  *ad (C), (D)

(4) @A« (B), (O)

Options :

5362288853. 1
5362288854. 2
5362288855. 3
5362288856. 4

Question Number : 115 Question Id : 5362282273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Under the International Health regulation 2005. which of the following diseaszes are under

survelllance by the World Health Organization?

(A) Cholera
(B) Dengue
(C)  Malana
(D) Louse-Borne Typhus

Choose the correct answer from the options given below :

(1) (C), (D) only
(2)  (A), (C) only
(3)  (B). (C) only
(4) (A), (D) only

Options :

5362288857. 1
5362288858. 2
5362288859. 3
5362288860. 4

Question Number : 115 Question Id : 5362282273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HaurdE wren faframa, 2005 & 98 Atateas 4 8@ w1 @ S v =y gnea i e
LY

(A) B
B
(C)  HeAfE

(D) T3S AT TEHA

= fou m fawe] § | wa I g
(1)  #haa (C). (D)

(2)  FaE (A), (C)

(3)  Fa (B), (C)

(4)  Fad (A). (D)

Options :

5362288857. 1
5362288858. 2
5362288859. 3
5362288860. 4

Question Number : 116 Question Id : 5362282274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
International Health Agency Activity
(A) Hind Kushtha Nivaran Sangh (I)  Tramning of Gram Sevikas
(B) Bharat Sevak Samaj (I) Health Education for Leprosy Control
(C) Kasturba Memorial Fund (III) Providing relief in times of disasters or
emergencies
(D) Indian Red Cross Society (IV) Improvement in rural samitation

Choose the correct answer from the options given below :

(1) (A)-aD. (B)-IV). (C)-(D). (D)-(III)
(2)  (A-dI). B)-@D). (O)-(IV). (D)-(ID)
(3) (A)-(ID). (B)-(I). (C)-(IV), (D)-(III)
(4) (A, (B)-IV). (C)-(ID). (D)-(D)

Options :

5362288861. 1
5362288862. 2
5362288863. 3
5362288864. 4

Question Number : 116 Question Id : 5362282274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



H=A1-1 %1 g=1-11 % W gafem i)

-1 HH1-11
(A) Tég e fHam |44 (I) o Higs & T
(B) 9TA Haw HETH (II) %8 fag=m & fero wmey fore
(C) =eqial HEifige w2 (ITT) srer =1 s feafaei © wad gem &
(D) E=E9 1= #iF gEEd (IV) TTHfor F=r=se § HeW
9 fod o fawedl 4§ WA I g0

(1) (A)-ID). (B)-IV). (CO)-(I). (D)-(IIT)
(2)  (A)-IID, (B)-D. (C)-(IV). (D)-(II)
(3) (A)-(ID). (B)-(D). (C)-(IV), (D)-(III)
(4)  (A)-IID). (B)-(IV). (C)-(ID). (D)D)

Options :

5362288861. 1
5362288862. 2
5362288863. 3
5362288864. 4

Question Number : 117 Question Id : 5362282275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
Type of contraceptive Example
(A) Barrer (I)  Norethisterone enantate
(B) Oral Pill (I) MNirena
(C) Intra Uterine Device (ITI) Nonoxynol-9
(D) Injectable (IV) Gossypol

Choose the correct answer from the options given below :

1) (A-D. (B)-II), (C)-(II). (D)-(IV)
2)  A)-aD. B)-(D. (C)-(IV). (D)-(III)
(3)  (A)-AV). (B)-IID. (C)-(D. (D)-(IT)
(4)  (A)-II). (B)-IV). (C)-(ID). (D)-(D)

Options :

5362288865. 1
5362288866. 2
5362288867. 3
5362288868. 4

Question Number : 117 Question Id : 5362282275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hfi1-1 1 H=1-11 % e g ferd shifa)

gefi-1 q1-11
B ERDER Eat ECEU
(A) afen D ArufafeiE e
(B) @M e (ID) o
(C) 21 T3 ITHIY| (IID) =TT -9
(D) 3a#ea (IV) e
EIERCORIDRE R R R R e (B

(1 (A-@. B)-ID. (C)-(IID. (D)-@V)
2 A-aD. B)-(D. (C)-OV). (D)-(II)
(3)  A-AV). (B)-(ID). (C)-(D), (D)-(II)

(4 (A)-II). B)-IV). (C)-(ID). (D)-(I)
Options :
5362288865. 1
5362288866. 2
5362288867. 3
5362288868. 4

Question Number : 118 Question Id : 5362282276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(A) High Stationary (I)  Low barth rate, Low death rate
(B) Early Expanding (I) Barth rate tends to fall. Death rate
declines further
(C) Late Expanding (III) High birth rate. High death rate
(D) Low Stationary (IV) Birth rate high. Death rate begins to
decline

Choose the correct answer from the options given below :

(1)  (A-D. B)-II). (C)-(IIL). (D)-(IV)
(2  (A)-AD. (B)-IID. (C)-(IV). (D)-(D)
(3)  (A)-ID). (B)-IV), (C)-(ID), (D)-(I)
4 (A)-AV). (B)-(D). (C)-IL). (D)-(II)

Options :

5362288869. 1

5362288870. 2

5362288871. 3
5362288872. 4

Question Number : 118 Question Id : 5362282276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g1 =1 |=1-11 = wne gifera fifs |

i~

-1 HqH1-1I
(A) = fEr (I =, FE g
(B) iy yan (I) <=8 &% e 2, geg 2 iR e 2 2
(C) Tawifsm wam (II) 3= FH e, T3 g &
(D) = fem (IV) 3= S0 31, 9oy 2 | firrae sl g @l i
2
A1 23 4 e § 4 9d I g

1) (A-D. B)-ID). (C)-III). (D)-(IV)
(2)  (A-ID. (B)-(IID. (C)-(IV). (D)-(D)
(3)  (A)-II). B)-IV), (C)-(ID). (D)-(I)
4)  (A)-AV). (B)-(D), (C)-(I1IL), (D)-(II)

Options :

5362288869. 1

5362288870. 2

5362288871. 3
5362288872. 4

Question Number : 119 Question Id : 5362282277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(Food) (Protein gm/100 gm)
(A) Milk (), 3.2-43
(B) Meat (I) 18-26.0
(C) Egg (III) 13.0
(D) Fish (IV) 15.0-23.00

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
(2 @)-an. (B)-(I), (C)-(I1I). (D)-IV)
(3)  (A)-IID). (B)-(IV). (C)-(ID). (D)-(I)
(4  (@-@). B)-II). (C)-II). (D)-IV)

Options :

5362288873. 1

5362288874.2

5362288875.3
5362288876. 4

Question Number : 119 Question Id : 5362282277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-1 %1 H=1-I1 = 19 gufed Fifsm |

g1 111
CIEE TEA . /100 1.
(A) 3™ @ 32-4.3
(B) HH (I) 18—126.0
(C) #= (IIT) 13.0
(D) "l (IV) 15.0—23.00

= faa ma faehel O | | I g

(1) (A)-@). B)-(ID). (O)-(IID. (D)-(IV)
2y (A-dD. B)-(D. (C)-(IID. (D)-IV)
(3)  (A-IID. B)-AV). (C)-a). (D)-(D
(4 (A)-O. (B)-IID). (C)-(ID. (D)-IV)

Options :

5362288873. 1
5362288874. 2
5362288875. 3
5362288876. 4

Question Number : 120 Question Id : 5362282278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

Last I List IT
Diseases Food toxicants
(A) Neurolathyrism (I) Betaoxalyl amino alanine (BOAA)
(B) Aflatoxicosis (I) Sanguinarine
(C) Epidemic dropsy (III) Mycotoxin
(D) Endemic Ascitis (IV) Pyrrolizaidine alkaloids

Choose the correct answer from the options given below :

(1) (A-@. B)-IID. (O)-ID. (D)-IV)
(2)  (A)-IID). (B)-ID). (C)-(D. (D)-(IV)
3y  (A)-D. B)-(IV). (O)-(ID). (D)-II)
(4 (A)-IV). (B)-IID. (C)-(I). (D)D)

Options :

5362288877. 1
5362288878. 2
5362288879. 3
5362288880. 4

Question Number : 120 Question Id : 5362282278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g1 ot =11 % wne wufera it

Fil-1 11
(sfoicat) (T ferwerree )
(A) =reAufsy (D) e srriferet st veATsA (s 37 v )
(B) Ut (ID) EregarE
(C) udrefus gres (II) Treaaffaay
(D) =iy uaiea (IV) wiEdiferfeia vasierse
A1 Tz fashedi 0 & wdl 3w gfu

(1) (A)-@. B)-II). (C)-(II). (D)-(IV)
(2)  (A-dID. B)-dD. (O)-(D). (D)-IV)
(3)  A-@. B)-IV). (C)-IID), (D)-(ID
4)  (A)-IV). (B)-II), (O)-(D), (D)-(ID

Options :

5362288877. 1
5362288878. 2
5362288879. 3
5362288880. 4

Question Number : 121 Question Id : 5362282279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I Last IT
Malariometric Indices related to human Interpretation
host
(A) Hypoendemic ()’ Spleen rate or ©parasite rate
consistently over 75%
(B) Mesoendemic (I) Spleen rate or parasite rate of 0—10%
(C) Hyperendemic (ITII) Spleen rate or parasite rate
consistently over 50%
(D) Holoendemic (IV) Spleen rate or parasite rate of 11-50%

Choose the correct answer from the options given below :

(1) A)-dID. (B)-1D). (C)-(II), (D)-(IV)
2)  (A)-AV). (B)-IID. (C)-(D). (D)-(IL)
(3)  (A)-aD. (B)-(IV). (C)-(I1I). (D)-(I)
4 (A-aV). B)-D. (O)-11), (D)-(I1L)

Options :

5362288881. 1

5362288882. 2

5362288883. 3
5362288884. 4

Question Number : 121 Question Id : 5362282279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HA1-1 ol H=-I1 = |1 Huferd s |

Ffi-1 =11

(A) BRI @)  OIel 12 (e 22) =1 frmnge T2 (yesfid 21)
SRR 75 Siererd 8 Fw =l 2

(B) wEiv-=Hiy (I) »oefd @ =91 WEEe @ 0-10 viawE
w2

(C) EEWU-Siu (IIT) ®9efF @ 41 JErse i@ e an 50 SfayE 4
FHEd 2

(D) Ereeeias (IV) ©efH T2 I WmEe @ 11-50 giderd
w2

A e 1 ke O B w3 g

(1) (A)-II). B)-(I). (C)-ID). (D)-(IV)
2)  (A-IV). (B)-(I1D. (C)-D), (D)-(ID)
(3)  (A-ID. (B)-(IV). (C)-(11D). (D)-(D
4 (A-AV). (B)-1D). (O)-ID). (D)-ID)

Options :

5362288881. 1

5362288882. 2

5362288883. 3

5362288884. 4

Question Number : 122 Question Id : 5362282280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Liat I with List IT

List I Last IT
Indicator for obesity Formula
(A) Ponderal Index @ Weight (Kg)
H+:3:ight-2 (m)
(B) Brocca Index a Ac.tual weig:ht
Dezirable weight
(C) Quetelet’s Index D) Height (cm) :
' Cube root of body weight(Kg)
(D) Corpulence Index (IV) Height (cm) minus 100

Choose the correct answer from the options given below :
(1)  (A)-AID), (B)-IL). (C)-(IV). (D)-(I)
(2)  (A)-ID. (B)-(IV). (O)-(IID). (D)-(D
(3  (A)-AV). (B)-II). (C)-(I). (D)-(I1T)
(4) (A)-(III), (B)-(IV), (C)-(I), (D)-(IT)
Options :
5362288885. 1
5362288886. 2

5362288887. 3
5362288888. 4

Question Number : 122 Question Id : 5362282280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HA-1 %1 H=1-I1 = #n9 guford Fifsm |

Hei-1 q=-1I
(A) T Y o T (fop..)
ears2 (1)
(B)  #ishl H=FT a Freafaes qn
ATfed gH
(C) Tgoele a1 - eraTd (1 i)
AT % qR o A g (T,
(D)  hietd T (IV) wand (i, ) 9144 100
Frferfaa e 44 w3 g

(1)  (A)-I). (B)-AD. (C)-(IV). (D)-(D)
(2)  (A)-dD. (B)-(IV), (C)-(III). (D)-(I)
(3)  (A)-AV). (B)-(ID). (C)-(I), (D)-(IIL)
(4)  (Q)-AI). (B)-aV). (C)-(I), (D)-(1I)

Options :

5362288885. 1

5362288886. 2

5362288887. 3
5362288888. 4

Question Number : 123 Question Id : 5362282281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List 1T

Last I Last IT

(A) Crowd (l!: A social group determined by
geographical boundaries and/or
common values and interest

(B) Mob (I) A large group of people gathered in
one place

(C) Society (ITII) A large group, fairly unified and single
minded 1n its aggressive Intent

(D) Community (IV) An organization of member agents

following a system of social
relationship between individuals

Choose the correct answer from the options given below :

(1) A)-ID. (B)-(II). (C)-(IV). (D)-(D
(2)  A)-ID. (B)-aD. (C)-(D). (D)-IV)
(3)  (A)-aD. (B)-(IV). (C)-(D). (D)-(III)
@ (A)-@). B)-ID. (C)-III). (D)-(IV)

Options :

5362288889. 1
5362288890. 2
5362288891. 3
5362288892. 4

Question Number : 123 Question Id : 5362282281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



q=fi-1 o g=fi-11 = e gafea fifsw)

"~

g1 {111
(A) iz (F132) (D)  bffers Hmsdl 1%/ @99 79 gedi v
(B) 3dfem i (uia) (ID) Uk ¥ W U [T 1 921 958
(C) ¥ (IIT) #9H M 3298 H Tad] Uhigd 3R
(D) @9 (IV) =afFal & wea =i Ja9 6 gome g
HEE | 1 H13A
CIERCORIDREE T R R R r e i (E L

(1 (A)-ID. (B)-(IID. (C)-(IV). (D)-(I)
(2)  (A)-ID). (B)-ID),. (C)-(D), (D)-(IV)
(3)  (A-ID. (B)-(IV). (O)-(D. (D)-II)
4  (A-D. B)-1D. (C)-(I1IL). (D)-(IV)

Options :

5362288889. 1

5362288890. 2

5362288891. 3
5362288892. 4

Question Number : 124 Question Id : 5362282282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II

(A) Epormithic () Infection transmitted from vertebrate
animals to man

(B) Anthropozoonoses (II) Infection transmitted from man to
vertebrate amimals

(C) Amphixenosis (III) An outbreak of disease 1n bird
population

(D) Zooanthroponoses (IV) Infection iz transmitted in both man
and lower vertebrate 1n either
direction

Choose the correct answer from the options given below :

1) A-@. B)-ID. (C)-III). (D)-(IV)
2)  (A)-ID. (B)-(IID). (C)-(IV). (D)-(D)
(3)  (A)-AID). (B)-(I). (C)-(IV). (D)-(ID)
4)  (A)-AV). (B)-(ID). (C)-(IIIL). (D)-(T)

Options :

5362288893. 1

5362288894. 2

5362288895. 3
5362288896. 4

Question Number : 124 Question Id : 5362282282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



el -1 1 =1-11 o |19 giferd ifen)

g1 {111
(A) IR (D)  Frwehl UEIs | Hs2 4 wErid dahuv)
(B) U (D) | @ FHErwehl gesii o warfa e
(C) UEhHIAA (TIT) &l s o s &1 gy
(D) ST (IV) w5 U o swaieeh €141 0 €M1 @ d g
e fed ' fasedi 1 | a8 3 e

1) (A)-D). (B)-II). (C)-(III), (D)-(IV)
2)  (A)-ID. (B)-IID. (C)-(IV). (D)-(D)
(3)  (A)-II). (B)-D. (O)-(IV). (D)-II)
(4)  (A)-IV). (B)-(II). (C)-(I1I). (D)-(I)

Options :

5362288893. 1

5362288894. 2

5362288895. 3
5362288896. 4

Question Number : 125 Question Id : 5362282283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT
List I Last IT

(A) Community Health (I) “Steps decided upon to meet the health
needs of the community taking into
account the resources available and
the wishes of the people”

(B) Community Medicine (I) “All the personal health and
environmental services in any human
community, irrespective of whether
such services were public or private
ones”

(C) Community Diagnosis (IIT) “The study of Health and Disease 1n
the population of a  defined
Community or Group”

(D) Community Treatment (IV) “The pattern of a disease In a
community described in terms of the
important factors which influence this
pattern”

Choose the correct answer from the options given below :

(1) (A)-ID). (B)-(). (C)-(IV), (D)-(II)
(2)  (A-IV). (B)-(D. (C)-(II), (D)-(II)
(3)  (A)-ID. (B)-IID. (C)-IV). (D)-(I)
(4)  (A)-IID), (B)-(IV). (O)-(T), (D)-I)

Options :

5362288897. 1

5362288898. 2

5362288899. 3
5362288900. 4

Question Number : 125 Question Id : 5362282283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



H1-1 o1 {=1-11 & |ne guferd st |
11 =11
(A) HMETF =R @  “3Ucted FATEA] 31T S0 6l g=iH] Fl ©IH
i wad T "R Hl ERed Hadi
savaFdIs 1 qfd % fore wen Faifa fr
T 21
(B) dmErias syl D) “fdl wHa wgerg A dAafes wERey vg
i Ha da, =R 3 Hard grEeias @
fsfi 71
(C) w|METas (&M (TID) v wieariygd Hqa@ 91 992 61 sHEe 4
TS S AT R AT |
(D) HMEHF IR (IV) “d4erd 4 39 geeaql e F wd 4 affq
Tl T =1 T, S 39 B 1 arfaa #d
s
e o3 faskedi | wd 3 g
(1) (A)-(III). (B)-(I). (C)-(IV). (D)-(1I)
(2 (A)-AV). (B)-@), (C)-d1). (D)-(I1T)
(3) (A)-(ID). (B)-(IID), (C)-(IV), (D)-(I)
4)  (A)-IID, (B)-AV). (C)-(D), (D)-IT)

Options :

5362288897. 1
5362288898. 2
5362288899. 3
5362288900. 4

Question Number : 126 Question Id : 5362282284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps involved in the investigation of an epidemic

(A)  Defining the population at risk
(B) Verification of diagnosis
(©) Confirmation of the existence of an epidemic

(D) Rapid search of all cases

Choose the correct answer from the options given below :

(L)  (O). D). @A) B
(2) (A). (B), (C). (D)
(3) (B). (C), (A). (D)

4 (0. @A) D). @B

Options :

5362288901. 1
5362288902. 2
5362288903. 3
5362288904. 4

Question Number : 126 Question Id : 5362282284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ek Werardl 1 wedrel 9 et =eon w1 sgafeea fifsm

(A)  SAIFE T W SEE ) e
B)  HEE F gerE
(C)  Wah HamHHl & 3ifedea &l qwa

D) T graei i i S

ﬂﬁﬁw?{ﬁﬂ

(L (C). (D). (A). (B)
(@) (A). (B). (C). D)
3)  (B).(C). A). D)

4 (C).(A), (D). (B)
Options :
5362288901. 1
5362288902. 2
5362288903. 3
5362288904. 4

Question Number : 127 Question Id : 5362282285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following South East Asian Region Countries, according to their Joining to
World Health Orgamzation (WHO) in Chronological Order

(A) Nepal
(B) Thailand
(C) Indonesia

(D) Sr Lanka

Choose the correct answer from the options given below :

(1) (B (A). D). ()
@  B. (). A). D
(3) (B (A). (C). (D)
@ (B).D).O. &

Options :

5362288905. 1
5362288906. 2
5362288907. 3
5362288908. 4

Question Number : 127 Question Id : 5362282285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



afequr qd wigrars a3 o FHefeiad 91 %1 39 gr fava wres |@neq 8 9fefod 2 & Fesu-Ean sgafd

(A)  HAdre
B) umelz
(C)  gEHfEEn
(D) et

1 fau o faeredi 1 & w8 3 g ;

(1) (B (A). D). (©)
2 (B).(0). A). D)
(3  (B). (A (©C). D)

4  (B). (D) (O). (&)
Options :
5362288905. 1
5362288906. 2
5362288907. 3
5362288908. 4

Question Number : 128 Question Id : 5362282286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps involved 1n purification of water by rapid sand filter method

(4)  Flocculation
(B) Filtration
(C) Back Washing

(D)  Coagulation

Choose the correct answer from the options given below :

1) D). @A) B). (C)
@  A.D.®).©
3 (B (@A) (). D)
4 (D). (). A). (B)

Options :

5362288909. 1
5362288910. 2
5362288911. 3
5362288912. 4

Question Number : 128 Question Id : 5362282286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e aitete Theet vgfd g ol = sifgarn O wge =i =1 syafm =

A) Tl
B) TeeswH
(C) e arfsm
D)  FIFeH
A fase i ;

(D (D). . ®. ()
(2)  @&). (D). ®B.(©)
(3) (B (A, (C). (D)

(4) (D). (C). (A). (B)

Options :

5362288909. 1
5362288910. 2
5362288911. 3
5362288912. 4

Question Number : 129 Question Id : 5362282287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following immunization milestones in chronological sequence from remote past
to most recent.

(A) Universal Immunmzation Program

(B) Tetanus Toxold vaccine for pregnant women

(C) Expanded program of immunization

(D) Vit-A supplementation

Choose the correct answer from the options given below :

(1) D). A).©). 1B
2  (B. D). &) (©)
(3) (A (). D). (B)

(4) (C). (B). (A). (D)
Options :
5362288913. 1
5362288914. 2
5362288915. 3
5362288916. 4

Question Number : 129 Question Id : 5362282287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Frreferfiaa afareron dae diet = Teut = 39 FEi=EA & ad & F79R 96 0 sgafed fif
(A) g ufdqemr FEEy

B) e ufeenati & foru Eeam aiwmie Ja

(Cy e =1 faediea ey

(D) T —u w1 @i (aefHeyH )

(D (D). @A) ©. (1B
2 (B). (D). A). ()
(3) @A) (C), D). (B)

4 (0. (B). A). D)
Options :
5362288913. 1
5362288914. 2
5362288915. 3
5362288916. 4

Question Number : 130 Question Id : 5362282288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following causes of blindness according to their burden from lowest to highest

(A) Glaucoma
(B) Cataract
(C) Refractive Error

(D)  Surgical Complications

Choose the correct answer from the options given below :

(1) (A). (C). (B), (D)
2)  (B). (A). (C). D)
(3) (D) (C). (B). (A4)

4 (D). A (©). B
Options :
5362288917. 1
5362288918. 2
5362288919. 3
5362288920. 4

Question Number : 130 Question Id : 5362282288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A o Freaforfiad Smon % 399 =gan 4 stiusmay S+ sgan syt Fif

A) T

(B)  FiEe (difcAries)

(C)  fuibfaea uw (wradf ==fazm)
(D) e TafhedE el

72 few o, fereredi 8§ & W 3o i -

(1) (A).(C). B). D)
2  (B). @A) C). D)
(3) (D). (C), B). (A)
4 (D). A).(©).(®B

Options :

5362288917. 1
5362288918. 2
5362288919. 3
5362288920. 4

Question Number : 131 Question Id : 5362282289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the needs of people according to “Maslow’s Hierarchy Theory” from basic to more

refined

(A)  Belongingness
(B) Hunger

(C) Recognition

(D)  Security

Choose the correct answer from the options given below :

(1) (B). (C). (D). (A)
(2) (B). (D). (A). (C)
(3) (C). (B). (D). (A)

(4) (C). (A). (B). (D)
Options :
5362288921. 1
5362288922.2
5362288923. 3
5362288924. 4

Question Number : 131 Question Id : 5362282289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Bell o Iehy THETd o ST SFT o1 SATavashd] &1 gt | sfae aftfisd & 0 4 gesu

(A) HAYAA

®) g7

(C) T

D) e

9 fr o ferpedi © & | I 9

1)  (B).(C). D). &)
@ (B). D). ). (©)
3 (0. (®B). D). (&)

4) (0. (A). B). D)
Options :
5362288921. 1
5362288922. 2
5362288923. 3
5362288924. 4

Question Number : 132 Question Id : 5362282290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following examples of preventive interventions according to increasing level of
prevention

(A) Mammography

(B)  Habit of regular exercise since childhood

(C) BCG vaccination

(D)  Prowviding spectacles

Choose the correct answer from the options given below :

(L (@A) {D),(C). (B)
2  (B.(0). A). (D)
(3  (B. (). D). A)
@4 (O). D). A).®B

Options :

5362288925. 1
5362288926. 2
5362288927. 3
5362288928. 4

Question Number : 132 Question Id : 5362282290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T[R9 o T & Fafafigd 2= 1 Team 0 & 9ed w9 § suafee fifso

(A)  dgnumd
(B)  sTeaTaEen ¥ frafaa s i s1red
(C) i =i =i drehreraon

(D) =98 92H F1

<At fo o ferreni i e e g

() @. D). (©). B
2)  (B).(C). (A). (D)
(3  (B).(C). D). (A

(4) (C). (D). (A). (B)
Options :
5362288925. 1
5362288926. 2
5362288927. 3
5362288928. 4

Question Number : 133 Question Id : 5362282291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The correct sequence of events leading to disability according to their severity (lowest to
highest)

(A) Impairment

(B) Disease

(C)  Handicap

(D) Disability

Choose the correct answer from the options given below :

()  (B). D). A). (C)
(2) (B). (A), (C), (D)
(3) (B (A). D). (C)
4 (B).(C). D). A)

Options :

5362288929. 1
5362288930. 2
5362288931. 3
5362288932. 4

Question Number : 133 Question Id : 5362282291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(A) @
B) T

(C)  Tesumman (2<iFm)
D) a9k (femufafrd)

=t fau mu faereai § 4 we e gfo

(1) (B). D). (A (C)
2) (B).(A).(©C). D)
3  (B).(A). D). (C)

4)  (B). (C). D). (&)
Options :
5362288929. 1
5362288930. 2
5362288931. 3
5362288932. 4

Question Number : 134 Question Id : 5362282292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following stages of Life Cycle of Malaria Parasite beginning with Asexual Cycle
to Sexual Cycle

(A) Zygote
(B) Sporozoite
(C) Gametocyte

(D) Trophozoite

Choose the correct answer from the options given below :

1 (B.(C). D). A
2) (B (D). (O). 4)
@) (D). ([B). (). (A

(4) (D). (C). (B). (&)
Options :
5362288933. 1
5362288934. 2
5362288935. 3
5362288936. 4

Question Number : 134 Question Id : 5362282292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Heife gesiEl o Sfiem =6 % Fefafad v %1 sl 9% 4 A1y #3d g dfies 9%  #49 § Fated
fifeu

(A) e

B) TAHEEEE
(C) I
D)  IrEEe

1 fau o faeredi ° & =8 3 g ;

(1) (B (C). D). &)
2) (B (D). (O). (4)
3 (D.®B).O). &)

@ @D, ©).B). A
Options :
5362288933. 1
5362288934. 2
5362288935. 3
5362288936. 4

Question Number : 135 Question Id : 5362282293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the clinical manifestation of filariasis according to severity

(A4)  Asymptomatic
(B) Epididymo orchitis
(C)  Hypertrichosis

(D) Elephantia=zis

Choose the correct answer from the options given below :

(1) (A, (O, (B). (D)
2) (@A), [, (C). (B)
(3)  (A).(B). D). (©)

@  @&). D). ®B.(©)

Options :

5362288937. 1
5362288938. 2
5362288939. 3
5362288940. 4

Question Number : 135 Question Id : 5362282293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FTgeATr 21 i o SR AaTie T o sgatem Fife

(A)  Hedzw Tz

B) ufyszEEs Hiwishkd
(C)  =rdifeHiag

(D)  uferk=iufad (21 wa)

1=l feu e fospedi § 4 9 3o g0 :

(1) (A). (©), (B). (D)
2 (A, D) ©). B

(3) (A (B). D). (©)

4  (A). D). B).(©)

Options :

5362288937. 1
5362288938. 2
5362288939. 3
5362288940. 4

Question Number : 136 Question Id : 5362282294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  Concept of germ theory of disease gained momentum during 19™® and early
part of 20™ Century.

Reason (R) : This 1s due to reason that emphasis had shifted from empirical cause (bad

alr) to microbes as the zole cause of the disease.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 13 not correct but (R) is correct
Options :
5362288941. 1
5362288942. 2
5362288943. 3
5362288944. 4

Question Number : 136 Question Id : 5362282294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 21 oA o e 2| s & s (A) 3T 3 & a4 (R) FE1TE1E |
HAlghad (A) : 19 i i 3R 20 = w1 % qatg o T = SAferes fgia i deaan asi § 0 ge- ol

a+ (R) : T AV 42 2 T srqufes o (e adn) 3 eaM g geustial 1 I vE uE

AT T afed faan < @)
IuYh FHUA o Al H H=ifRd fasmedl 4 | waffas 39g® 39 9 ;

(1)  (A) 3" (R) ZH1 | £ 31 (R). (A) il 92 =40 2
(2)  (A) 1 (R) TH 88 T 9 (R). (A) F1 9 == A48 2
(3 (A)EA 2w (R) ¥ A 2

(4 (A HEAE 29 R) 51 2

Options :

5362288941. 1
5362288942. 2
5362288943. 3
5362288944. 4

Question Number : 137 Question Id : 5362282295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements ;: One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) : Pasteurisation of milk kills bacteria in milk.

Reaszon (R) : Kills only 90% of bacteria including the heat resistant bacillus and the Q

fever organisms.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362288945. 1
5362288946. 2
5362288947. 3
5362288948. 4

Question Number : 137 Question Id : 5362282295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 @1 s fau e 8| vek ol A=A (A) 31 g6 F1 7 (R) w2112

Al (A): o TR foe S W g % S s 2

T R): o9 A 90% stramy weel # form am wiiiee Sfaer siv spam 7 % Sfa wnfie )
I el o snretien U frenifera fasredi 4 & waiforer 3o 39 = -

(1)  (A) 3R (R) H1 =981 2 37 (R), (A) 1 @&l =amEm 2
(2)  (A) 3R (R) aHI 581 2 W= (R), (A) il 521 =31 47 2
(3) (&) ¥ 2w (R) "l A 2

(4) (A HE T 29 R) 591 2

Options :

5362288945. 1
5362288946. 2
5362288947. 3
5362288948. 4

Question Number : 138 Question Id : 5362282296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A):  Prevention of undesired pregnancies in adolescents through education

programmes dealing with responsible sexual behaviour 1s a major public
health challenge.

Reaszon (R) : Adolescents are ambivalent about family planning and requesting

contraception shall suggest revealing their sexuality.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 13 NOT the correct explanation of (A)
(3) (A) 12 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362288949. 1
5362288950. 2
5362288951. 3
5362288952. 4

Question Number : 138 Question Id : 5362282296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A4 g1 oA oo 2| v = swfaeed (A) 3R g6 6 @9 (R) w1791 2
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1o Tareen o usk 9] A 2
a4 (R) : Torar afeam farem & gfq sfof 6 feafa 0 2@ 2 ein = nd-fem 1 gama &5 &
gftommgeEy 391 Aafefa s g g

IR Al & el O il faseai 0 | waifess sugs 39 =4

(1) (A) i (R) 21 w81 & 3 R), (A) il wdi sarzn 2
(2)  (A) 3R (R) aH1 981 2 W (R). (A) &l 621 =301 42 2|
(3)  (A) % 2 weq (R) §e1 7 2

(4 (A 4 AE 29 R) 91 2

Options :

5362288949. 1
5362288950. 2
5362288951.3
5362288952. 4

Question Number : 139 Question Id : 5362282297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A):  Rheumatic fever 1s typically a disease of childhood (5-15 yrs).

Reason (R) : Eheumatic fever 1s caused by Group B streptococcal infection. Toxic
products and components of the streptococcus and of host tissues have an
antigenic cross relationship. leading to immunological process that result

in an attack of Rheumatic fever.
In the hight of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options :

5362288953. 1
5362288954. 2
5362288955. 3
5362288956. 4

Question Number : 139 Question Id : 5362282297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A) 3R (R) gH1 | £ 3R (R). (A) =il T2 =0e 2
(2) (A #FR (R) SHI 88 2 T (R), (A) =l @& =3mE 98 2
(3) (A) 9l 2w (R) |l 44 2

(4 (A AF 29 R) 9 2
Options :
5362288953. 1
5362288954. 2
5362288955. 3
5362288956. 4

Question Number : 140 Question Id : 5362282298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reazon (R).

Assertion (A) : In order to reduce the various kind of bias “blinding” 1s adopted. which wall

ensure that the outcome 1s assezsed objectively.

Reason (R) : Blinding shall increase the power of test and also value of Design effect:

So, there are more chances of significant outcome.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362288957. 1
5362288958. 2
5362288959. 3
5362288960. 4

Question Number : 140 Question Id : 5362282298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A 3 (R) gHI 98 & 31 R), (A) il 51 =3mE 2
(2) (A 3R (R) 5H1 581 & W (R), (A) &l 61 =311 42 2|
(3) (A) \El 2 W] (R) w1 72 21

@ (A F 2w ®) w2

Options :

5362288957. 1
5362288958. 2
5362288959. 3
5362288960. 4

Sub-Section Number : 2
Sub-Section Id : 53622889
Question Shuffling Allowed : Yes

Question Id : 5362282299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (141 to 145)



Question Label : Comprehension

Read the passage carefully and answer Q.No. 91 to 95 that follow :

In a civil hospital of City A. there were 500 live births in the vear January 2019. Out of
which 100 infants had birth weight less than 2.5 kg. Observing high proportion of low birth
welght babies, an epidemiologist decided to do a study to find out the association between
birthwelght and infant deaths. A study design was developed and all 500 infants were
followed up for one year. At the end of one year. 24 infants died among 500 infants who were
under observation. Out of 24 deaths. 16 deaths were observed among low birth weight
babies. After the analysis. Epidemiologist concluded that low birth weight infants are at
higher rnsk of dving than normal birth weight infants.

Sub questions
Question Number : 141 Question Id : 5362282300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What type of study design was developed by an epidemiologist?

(1) Casze control (2) Cohort
(3) Cross Sectional (4) Descriptive
Options :

5362288961. 1
5362288962. 2
5362288963. 3
5362288964. 4

Question Number : 142 Question Id : 5362282301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following 1s an advantage of a such type of study?

(1) Recall bias 1s minimized (2) Costis less
(3) Single outcome can be studied (4) Sutable for the rare disease
Options :

5362288965. 1
5362288966. 2
5362288967. 3
5362288968. 4

Question Number : 143 Question Id : 5362282302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following rate 1s ealculated with this study design?

(1) Prevalence rate (2) Incidence rate
(3) Fatality rate (4) Proportional mortality rate
Options :

5362288969. 1
5362288970. 2
5362288971. 3
5362288972. 4

Question Number : 144 Question Id : 5362282303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following parameter was used by epidemiologist to assess the “"Strength of
assoclation™?

(1) Odd’s Ratio (2) Attributable Risk
(3) Relative Risk (4) Population attmbutable Risk
Options :

5362288973. 1
5362288974. 2



5362288975.3
5362288976. 4

Question Number : 145 Question Id : 5362282304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the attributable risk observed in the current study design?

(1) 68% (2) T4%
(3) 8% (4) 88%
Options :

5362288977. 1
5362288978. 2
5362288979. 3
5362288980. 4

Question Id : 5362282299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

freyferfiad e =1 ufeu 3iF 29+ =g {3 7 Uyl & 390 a0 : 91-95
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o Hua 4 g5 7919] 4og & 3 SAifaq 1 2 2

Sub questions



Question Number : 141 Question Id : 5362282300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gemar i (ofufefareiteee ) g o I =1 sere gy fasta fea mn?

(1) e (F4) FEEm @ "=
(3)  widaia (4 SEATHSE
Options :

5362288961. 1
5362288962. 2
5362288963. 3
5362288964. 4

Question Number : 142 Question Id : 5362282301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frferfiaa o =6H A1 39 TR o HEITH F ey 27

(1) ¥ e a2 (2) i w2
(8) RO 1 A & HHA & (@) 7 i % e 3w
Options :

5362288965. 1
5362288966. 2
5362288967. 3
5362288968. 4

Question Number : 143 Question Id : 5362282302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Frrferfiaa 1 = #1939 sterma wrEy & iy aitfa 27

(1) TFHH (2) HAMH
(3)  srTgegE (Bieferdi ) (4)  FHTI geg &
Options :

5362288969. 1
5362288970. 2
5362288971. 3
5362288972. 4

Question Number : 144 Question Id : 5362282303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feafetfiaa araeni 8 *11 @ ams e i astTgdi’ 1 97 o foe mamr faa (vfufsiaeitee) 4 30am
(E=

(1)  Tauy s (2) A A (vdeglad fe)
(3)  ®MiEEF Sy (4) SHEEI AW Sy (vdedad T )
Options :

5362288973. 1
5362288974.2
5362288975.3
5362288976. 4

Question Number : 145 Question Id : 5362282304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAUH A YT d Foha T (vdiegeaet ) Sifias g e
1)  68% 2) T4%
(3) 8% (4) 88%

Options :



5362288977. 1
5362288978. 2
5362288979. 3
5362288980. 4

Sub-Section Number : 3
Sub-Section Id : 53622890
Question Shuffling Allowed : Yes

Question Id : 5362282305 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage and answer the question which follow : (96-100)

An outbreak of water-borne disease was reported at village “XYZ". The rapid response team
conducted an outbreak investigation and found a “Well” as a common source to all cases. It
was suggested to disinfect the water in the well. till then villagers were advised to conduct
household purification of water. Health workers explained the wvillagers about same. The
necessary measurements of the well were taken. As per standard guidelines, the chlorine
demand of the water was calculated. The health workers dissolved the disinfecting agent
and delivered it into the well as per instructions given. After a necessary contact period, the
water was tested for the amount of residual chlorine in it. The same was found satisfactory.

Sub questions

Question Number : 146 Question Id : 5362282306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the best suitable agent to disinfect the well?

(1) Chlorine tablets (2) Bleaching powder
(3) Iodine (4) Potassium Permanganate
Options :

5362288981. 1
5362288982. 2



5362288983. 3
5362288984. 4

Question Number : 147 Question Id : 5362282307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the minimum contact period allowed (In minutes) before water 1s drawn for
usage?

(1) 20 (2) 30
(3) 40 (4) 60
Options :

5362288985. 1
5362288986. 2
5362288987. 3
5362288988. 4

Question Number : 148 Question Id : 5362282308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are household methods for purification of water?
(A)  High test hypochlorite

(B) Berkefeld filter

(C)  Multi-stage reverse osmosis

(D) Rapid sand filter

(E)  Permutit process

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (C), (D) and (E) only

(4 (A). (D) and (E) only

Options :

5362288989. 1
5362288990. 2
5362288991. 3
5362288992. 4

Question Number : 149 Question Id : 5362282309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which equipments are used in the discussed process?

(A) Chloroscope

(B) Katadyn

(C) Horrock's Apparatus
(D)  Shng Psychrometer

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (C) only
Options :

5362288993. 1
5362288994. 2

5362288995. 3
5362288996. 4

Question Number : 150 Question Id : 5362282310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which reagent 1s used 1n a test for assessment of the level of residual chlorine in proceszed
water?

(1) Orthotolidine (2) Chloramine
(3) Hydrogen sulphide (4) Ortho phthalaldehyde
Options :

5362288997. 1
5362288998. 2
5362288999. 3
5362289000. 4



Question Id : 5362282305 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

1 fau o si=e il ufeu 3R g6 SR Ul & 39 e : (96-100)

Ty § XYZ 3 el SiHd sl = gerd <l 7od1e ure 221 28 Gae i wiars 26 3 39 9 ) S 6 S
7z IR T 9l 5rael 4 v FA] 21 9 FR 21 A8 ga G w0 aF s e sy
a1 HAE 5 T o 99 9o d 194 B 0 9] 6 IIfEE | S -l 4 ardin i 48 ad
adTs| U 1 AFFF U {611 127| wHe fEun HEun & SER ui & e srEvas FeiE i arn £ e
o1 13| Tare A1 A srFEERT ST e a9 SR e e fadei & san 0 4 2 T 2he
al1g ATEvae Huh safe & = ol 4 srafire aerdia =1 g 0 ad e o fore g s R ord) o A
ST e TS I T

Sub questions

Question Number : 146 Question Id : 5362282306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  =AF e (2) et uEs
(3)  HEEH (4) TiefIrEm gUiEz
Options :

5362288981. 1
5362288982. 2
5362288983. 3
5362288984. 4

Question Number : 147 Question Id : 5362282307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



..... =

qH = T d o H Tee i =gaay Jus st (el 4) @ anfi?

(1) 20 (2) 30
(3) 40 (4) 60
Options :

5362288985. 1
5362288986. 2
5362288987. 3
5362288988. 4

Question Number : 148 Question Id : 5362282308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



F=fetfiad 4 & == O & 3iras 6 e fafa 27

(A)  EEYEANEE 3= T
B) s e

(C)  wIg%eira sqdsy WIE]
(D) g d s

(E)  wd= vl
1 52 7 fasredi § 4 9l 39 gH -

(1)  Fae (A). (B) 3 (C)
(2)  @Ed (B). (C) 3 (D)
(3)  =Had (C). (D) 31 (E)

(@) FaEE (A), (D) 1 (E)
Options :
5362288989. 1
5362288990. 2
5362288991. 3
5362288992. 4

Question Number : 149 Question Id : 5362282309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



affa ufsan | o= s w1 30 farar man 27

(A)  FEARREHM

(B) e[

(C) =i 3w
(D)  Teem argrndten

A= T2 1 faepedt 44 | 9 g

(1) A (A) 381 (B)
(2)  Fad (B) 3 (C)
(3) e (C) 3 (D)
(4)  Fad (A) 3 (C)
Options :
5362288993. 1
5362288994, 2

5362288995. 3
5362288996. 4

Question Number : 150 Question Id : 5362282310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Haprferd w4 S7afIre iAo S 1 e FH o ugeh T ° foma O stfusre o gdw T s 27

b e O -1 =,

(1) HIATETEA (2) AU
(3)  TEIRH UCHES (4) el darfearse
Options :

5362288997. 1
5362288998. 2
5362288999. 3



5362289000. 4



